TS Register No: 2397/2019-2020 AS Register No:2501/2019-2020

## UPGRADATION AND RENOVATION OF GOVERNMENT GUEST HOUSE, PEERUMEDU.

**Detailed Estimate** 

(Dsor year: 2016,Cost Index Applied for this estimate is 48.71%)

SI No	Description	No	L	В	D	CF	Quantity	Remark
		1 APPEND	X A- GUES	THOUSE R	ENOVATIO	N		
1	15.23.1 Dismantling tile work lead.For thickness of			cement mo	rtar including	stacking m	naterial withir	n 50 met
	ROOM 103	1	4.000	4.500			18.000	
		1	3.650	3.650			13.323	
		1	2.750	1.750			4.813	
		1	2.850	1.850	( ) )		5.273	
	ROOM 102	1	5.500	5.500	Ta.	Į.	30.250	
		1	2.550	1.750		1	4.463	
		1	2.850	1.850	SQ.		5.273	
	ROOM 101	1	5.500	5.500			30.250	
		Ither E	191neer1 3.600	ng ()rg 2.800	anisatio	ns	10.080	
		1	3.600	1.750			6.300	
		1	4.000	1.800			7.200	
	PANTRY	1	3.700	3.800			14.060	
	STORE 1	1	2.200	3.800			8.360	
	STORE ROOM 2	1	2.250	1.650			3.713	
	TOILET	1	1.430	2.200			3.146	
	KITCHEN ROOM	1	6.400	3.400			21.760	
	KITCHEN	1	6.500	3.850			25.026	
	STORE 3	1	2.250	3.850			8.663	
	TOILET	1	1.430	2.200			3.146	
	STORE 4	1	1.500	6.400			9.601	
	PASSAGE 1	1	8.000	2.000			16.000	
	PASSAGE 2	1	7.100	2.000			14.200	
	PASSAGE 3	1	6.400	2.000			12.800	
					Tota	al Quantity	275.700 s	am

				To	otal Deducted Quantit	0.000 sqm
					Net Total Quantity	/ 275.700 sqm
			Sa	y 275.700 s	qm @ Rs 46.92 / sqm	Rs 12935.84
2	with water absorp	otion less than 0. 20 mm thick cem	08% and con ent mortar 1	forming to I	S : 15622, of approve	ied by the manufactured make, in all colours and luding grouting the join mm.
	103	1	4.300	4.800		20.640
		1	3.950	3.950		15.603
		1	3.050	2.050		6.253
		1	2.150	3.150		6.773
	toilet	1	2.150	3.150		6.773
		1	2.150	3.150	19 17	6.773
	102	1	5.800	5.800	121	33.640
		1	2.850	2.050	BAOL	5.843
		1	3.150	2.150		6.773
	toilet	1	2.150	3.150		6.773
	101	Other E	o i5.800 ri	n _5.800 g	anisations	33.640
		1 1	3.900	2.050		7.995
		1	4.300	2.100		9.030
		1	3.500	2.100		7.351
		1	3.500	2.100		7.351
		2	1.800	2.800		10.080
		2	1.800	2.800		10.080
		2	1.800	2.800		10.080
	102	2	2.600	2.900		15.080
		2	2.000	2.900		11.600
	101	2	4.200	3.000		25.201
		2	2.000	3.000		12.000
	pantry	1	3.700	3.900		14.430
	store 1	1	3.900	2.300		8.970
	passage	1	8.300	2.800		23.241
		1	7.300	2.500		18.250

			1							
		1	6.400	2.500			16.000			
	kitchen	1	10.500	7.850			82.425			
	store3	1	2.650	6.800			18.020			
	store 4	1	1.800	6.800			12.240			
		1	1.800	6.800			12.240			
	store2	1	2.550	1.950			4.973			
		1	1.730	2.500			4.325			
					Tota	al Quantity	490.446 s	qm		
				To	otal Deducte	d Quantity	0.000 sqm	1		
				0	Net Tota	al Quantity	490.446 s	qm		
			Say 4	90.446 sqm	@ Rs 1664	.66 / sqm	Rs 816	6425.84		
	thick bed of cement n	nortar 1:3 (1	cement: 3 c	narse sand	and jointin	a with arev	cement sluri	w @ 33		
	black of any size as approved by Engineer -in-Charge, in skirting, risers of steps and dados, over 12 m thick bed of cement mortar 1:3 (1 cement : 3 coarse sand) and jointing with grey cement slurry @ 3.3 per sqm, including pointing in white cement mixed with pigment of matching shade complete.									
				13.865-1.365.365	754			•		
				13.865-1.365.365	754			•		
	per sqm, including po	inting in whit	e cement mi	ixed with pig	gment of ma	tching shad	le complete.	•		
	per sqm, including po	ointing in whit	e cement mi	2.100	754	tching shad	31.500	•		
	per sqm, including po	ointing in whit	7.500 3.500	2.100 2.100	gment of ma	tching shad	31.500 14.701	•		
	per sqm, including po	ointing in whit	7.500 3.500 3.300	2.100 2.100 2.100	gment of ma	tching shad	31.500 14.701 13.860	•		
	per sqm, including po	ointing in white	7.500 3.500 3.300 3.300	2.100 2.100 2.100 2.100 2.100	gment of ma	tching shad	31.500 14.701 13.860 13.860	•		
	per sqm, including po	ointing in white	7.500 3.500 3.300 3.300 6.800	2.100 2.100 2.100 2.100 2.100 3.500	gment of ma	tching shad	31.500 14.701 13.860 13.860 47.600	•		
	per sqm, including po	ointing in white	7.500 3.500 3.300 3.300 6.800	2.100 2.100 2.100 2.100 2.100 3.500	gment of ma	tching shad	13.860 13.600 47.600	•		
	per sqm, including po	ointing in white	3.500 3.500 3.300 3.300 6.800 6.800	2.100 2.100 2.100 2.100 2.100 3.500 3.500	anisatio	tching shad	13.860 13.860 47.600 47.600			
	per sqm, including po	ointing in white	3.500 3.500 3.300 3.300 6.800 6.800	2.100 2.100 2.100 2.100 2.100 3.500 3.500 2.100	anisatio	ns al Quantity	13.860 13.860 13.860 47.600 47.600 13.441	qm		
	per sqm, including po	ointing in white	3.500 3.500 3.300 3.300 6.800 6.800	2.100 2.100 2.100 2.100 2.100 3.500 3.500 2.100	Total Deducte	ns al Quantity	13.500 14.701 13.860 13.860 47.600 47.600 47.600 13.441 230.162 s	qm		
	per sqm, including po	ointing in white	3.500 3.500 3.300 3.300 6.800 6.800 3.200	2.100 2.100 2.100 2.100 2.100 3.500 3.500 2.100	Total Deducte	tching shad  ITS  Al Quantity  d Quantity  al Quantity	13.500 14.701 13.860 13.860 47.600 47.600 47.600 13.441 230.162 si 0.000 sqm	qm		
4	per sqm, including po	ther Er 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	7.500 3.500 3.300 3.300 6.800 6.800 3.200  Say 2	2.100 2.100 2.100 2.100 3.500 3.500 3.500 2.100  To	Total Deducte  Net Total  @ Rs 1107	al Quantity d Quantity al Quantity 2.59 / sqm	13.860 13.860 13.860 47.600 47.600 47.600 13.441 230.162 si 0.000 sqm 230.162 si Rs 254	qm qm qm		
4	Toilets  Kitchen  15.56 Dismantling old plaste	ther Er 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	7.500 3.500 3.300 3.300 6.800 6.800 3.200  Say 2	2.100 2.100 2.100 2.100 3.500 3.500 3.500 2.100  To	Total Deducte  Net Total  @ Rs 1107	al Quantity d Quantity al Quantity 2.59 / sqm	13.860 13.860 13.860 47.600 47.600 47.600 13.441 230.162 si 0.000 sqm 230.162 si Rs 254	qm qm qm		
4	Toilets  Kitchen  15.56 Dismantling old plaste of rubbish to the dum	er or skirting ping ground	3.500 3.500 3.300 3.300 6.800 6.800 3.200 Say 2 raking out jouthin 50 me	2.100 2.100 2.100 2.100 3.500 3.500 2.100  To	Total Deducte  Net Total  @ Rs 1107	al Quantity d Quantity al Quantity 2.59 / sqm	13.500 14.701 13.860 13.860 47.600 47.600 47.600 13.441 230.162 s 0.000 sqm 230.162 s Rs 254	qm qm qm		

RECEPTION	1	6.000	3.000			18.000	
	1	8.000	3.000			24.000	
	1	7.000	3.000			21.000	
	1	8.000	3.000			24.000	
CORRIDOR	2	1.500	2.000			6.000	
	2	10.000	4.000			80.000	
ROOM 103	2	3.000	3.000			18.000	
	2	3.000	3.000			18.000	
	2	3.000	3.000			18.000	
	1	5.500	3.000			16.500	
	2	2.200	3.000			13.201	
	.1	5.000	3.000	1		15.000	
	1 4	3.200	3.000	7 1	\	9.601	
		3.000	3.000	1-2		9.000	
	2	3.100	3.000			18.600	
	******	2.100	3.000			6.301	
	1	2.100	3.000			6.301	
	Other En	gi21100 ri	ng3.000g	anisati	ons	6.301	
ROOM 102	1	6.300	3.000	T	7	18.900	
	1	5.600	3.000			16.800	
	1	5.100	3.000			15.300	
	1	7.000	3.000			21.000	
	1	2.100	3.000			6.301	
	1	2.100	3.000			6.301	
	1	2.100	3.000			6.301	
	1	2.100	3.000			6.301	
ROOM 101	1	6.300	3.000			18.900	
	1	7.000	3.000			21.000	
	1	5.000	3.000			15.000	
	1	6.000	3.000			18.000	
II	1	2.700	3.000			8.101	
	1	4.000	3.000			12.000	
	1	3.300	3.000			9.900	

	1	2.500	3.000			7.500
Ш	1	3.350	3.000			10.050
	1	2.400	3.000			7.200
	1	3.500	3.000			10.500
	1	2.000	3.000			6.000
MANAGERS OFFICE	1	8.000	3.000			24.000
	1	4.200	3.000			12.601
	1	2.700	3.000			8.101
	1	2.600	3.000			7.801
PANTRY	1	4.100	3.000			12.300
	1	3.200	3.000			9.601
	1	3.400	3.000	-		10.200
	1	3.500	3.000	7 1		10.500
STORE	1	3.500	3.000	1-2		10.500
	1	1.400	3.000	النوارية		4.200
	1	4.100	3.000			12.300
	1	2.400	3.000			7.200
STORE 2	thez En	gi2125011	ng.000g	anisatio	ons	13.500
	2	1.650	3.000	7 T	7	9.900
	2	1.430	3.000			8.580
	2	2.200	3.000			13.201
KITCHEN ROOM	2	3.400	3.000			20.400
	2	6.400	3.000			38.401
KITCHEN	2	6.500	3.000			39.000
	2	3.850	3.000			23.100
STORE 4	2	1.500	3.000			9.000
	2	6.400	3.000			38.401
STORE 3	2	2.250	3.000			13.500
	2	3.850	3.000			23.100
TOILET	2	1.430	3.000			8.580
	2	2.200	3.000			13.201
	2	2.200	3.000			13.201
 PASSAGE 1	2	8.000	3.000			48.000

		2	2.000	3.000			12.000	
	PASSAGE 2	2	9.100	3.000			54.600	
	PASSAGE 3	2	4.400	3.000			26.401	
					Tota	al Quantity	1181.530	sqm
				То	tal Deducte	d Quantity	0.000 sqm	Ì
					Net Tota	al Quantity	1181.530	sqm
			Say	1181.530 sc	qm @ Rs 33	.31 / sqm	Rs 39	356.76
5	13.1.1 12 mm cement plaste	er of mix·1·4 (	1 cement · 4	l fine sand)				
	wall plastering	1		inio cana,		1181.53	1181.530	same as
		·	-//W		Tota	al Quantity	1181.530	sqm
			43 6	To	tal Deducte	d Quantity	0.000 sqm	1
		1 L	N AR	51/1	Net Tota	al Quantity	1181.530	sqm
			Say 1	181.530 sqr	m @ Rs 257	.19 / sqm	Rs 303	8877.70
6	13.26 Providing and apply		The Control of the Land	of 2 mm thi	ckness ove	r plastered	surface to p	orepare the
6		nooth comple	ete.	M DIPZ/	anisatio		1181.530	
6	Providing and apply surface even and sr	nooth comple	ete.	ng Orga	anisatio	1181.53	1181.530	sqm
6	Providing and apply surface even and sr	nooth comple	ete.	ng Orga	anisatio Tota	1181.53	1181.530 1181.530	sqm
6	Providing and apply surface even and sr	nooth comple	ete. ngineeri	ng Orga	anisatio Tota	1181.53 al Quantity d Quantity al Quantity	1181.530 1181.530 0.000 sqm 1181.530	sqm
7	Providing and apply surface even and sr	ther Er	Say 1 face paint so or more coa	ng Orga To 181.530 sqr system for ats applied o	Total Deducted Net Total m @ Rs 176	1181.53 Id Quantity Ind exteriors	1181.530 1181.530 0.000 sqm 1181.530 <b>Rs 208</b>	sqm sqm 8563.68
	Providing and apply surface even and sr SAME QTY AS ITE NO.4  13.48.1 Finishing with Delumanufacturers speci	ther Er	Say 1 face paint so or more coa	ng Orga To 181.530 sqr system for ats applied o	Total Deducted Net Total m @ Rs 176	1181.53 Id Quantity Ind exteriors	1181.530 1181.530 0.000 sqm 1181.530 <b>Rs 208</b>	sqm sqm 8563.68
	Providing and apply surface even and sr SAME QTY AS ITE NO.4  13.48.1 Finishing with Delumanufacturers specione coat of special p	ther Er	Say 1 face paint so or more coa	ng Orga To 181.530 sqr system for ats applied o	Total Deducted Net Total m @ Rs 176	1181.53 Quantity d Quantity al Quantity .52 / sqm and exteriors 1.25 ltr/10 s	1181.530 1181.530 0.000 sqm 1181.530 Rs 208 s using prin	sqm sqm 8563.68
	Providing and apply surface even and sr SAME QTY AS ITE NO.4  13.48.1 Finishing with Delumanufacturers specione coat of special parts and same as Item 4	Make Multi surfications:Two	Say 1 face paint so or more coad @ 0.75 ltr	ng Orga 181.530 sqr system for ats applied of /10 sqm	Total Deducted Net Total m @ Rs 176	1181.53 Quantity d Quantity al Quantity .52 / sqm and exteriors 1.25 ltr/10 s	1181.530 1181.530 0.000 sqm 1181.530 Rs 208 s using prints sqm over an	sqm sqm 8563.68
	Providing and apply surface even and sr SAME QTY AS ITE NO.4  13.48.1 Finishing with Delumanufacturers specione coat of special parts and same as Item 4	Make Multi surfications:Two	Say 1 face paint so or more coad @ 0.75 ltr /	181.530 sqr system for ats applied of 10 sqm	Total Deducted Net Total m @ Rs 176	1181.53 Quantity d Quantity al Quantity .52 / sqm and exteriors 1.25 ltr/10 s	1181.530 1181.530 0.000 sqm 1181.530 Rs 208 s using prints sqm over and 1181.530 2.633	sqm sqm 8563.68
	Providing and apply surface even and sr SAME QTY AS ITE NO.4  13.48.1 Finishing with Delumanufacturers specione coat of special parts and same as Item 4	Marke Multi surfications:Two	Say 1 face paint so or more coad @ 0.75 ltr /	ng Organia (181.530 sqr 181.530 sqr system for ats applied of (10 sqm) 0.450 0.450	Total Deducted Net Total m @ Rs 176	1181.53 Quantity d Quantity al Quantity .52 / sqm and exteriors 1.25 ltr/10 s	1181.530 0.000 sqm 1181.530 Rs 208 s using prints sqm over and 1181.530 2.633 2.926	sqm sqm 8563.68
	Providing and apply surface even and sr SAME QTY AS ITE NO.4  13.48.1 Finishing with Delumanufacturers specione coat of special parts and same as Item 4	mooth complete the property of	Say 1 face paint so or more coad @ 0.75 ltr /	ng Organia (181.530 sqr 181.530 sqr system for ats applied (1710 sqm) 0.450 0.450	Total Deducted Net Total m @ Rs 176	1181.53 Quantity d Quantity al Quantity .52 / sqm and exteriors 1.25 ltr/10 s	1181.530 0.000 sqm 1181.530 Rs 208 s using prints sqm over and 1181.530 2.633 2.926 1.125	sqm sqm 8563.68

					1	1		
		1	4.500	0.450			2.025	
		1	4.900	0.450			2.205	
		1	5.800	0.450			2.610	
		1	9.000	0.450			4.050	
		1	4.100	0.450			1.845	
		1	4.500	0.450			2.025	
		1	2.100	0.450			0.946	
		1	2.200	0.450			0.991	
		1	3.000	0.450			1.350	
		1	4.100	0.450			1.845	
		1	6.900	0.450			3.106	
		1	9.900	0.450	-		4.455	
		1	1.360	0.450	7 13		0.613	
		16	180		Tot	al Quantity	1231.446	sqm
		1/51		To	otal Deducte	ed Quantity	0.000 sqn	า
		400			Net Tot	al Quantity	1231.446	sqm
			Say 1	231.446 sq	m @ Rs 14 <sup>7</sup>	7.15 / sqm	Rs 18	1207.28
8	8.6 Mirror polishing on ma complete.		ngineeri granite work				o give high	gloss fin
	RECEPTION	1	5.750	5.750			33.063	
	DINNING HALL	1	5.750	5.750			33.063	
	MANAGER'S OFFICE	1	5.850	4.400			25.741	
	CORRIDOR	1	15.000	2.300			34.500	
		1	15.000	2.300			34.500	
					Tot	al Quantity	160.867 s	qm
				To	otal Deducte	ed Quantity	0.000 sqn	า
					Net Tot	al Quantity	160.867 s	qm
			Say	160.867 sq	m @ Rs 344	4.26 / sqm	Rs 55	380.07
9	15.14.2 Dismantling wood work	c in frames	trusses nur	lins and raf	ters up to 1	Λ metres sn	an and 5 m	etres hei

	50% of existing structure	1	160.000			0.5	80.000	160=total volume of existing wood work at roof			
					Tota	al Quantity	80.000 m	etre			
				To	otal Deducted	d Quantity	0.000 me	tre			
					Net Tota	al Quantity	80.000 m	etre			
			Say 8	30.000 metr	e @ Rs 11.4	15 / metre	Rs 9	16.00			
10		15.28.2 Dismantling roofing including ridges, hips, velleys and gutters etc., and stacking the mater metres lead of :Asbestos Sheet									
	ROOF	1	29.960	30.000			898.801				
			£38		Tota	al Quantity	898.801 s	sqm			
		6	N 12	To	otal Deducted	d Quantity	0.000 sqn	n			
					Net Tota	al Quantity	898.801 s	qm			
		14.4									
44	50.0.42.4	10	Say	/ 898.801 s	qm @ Rs 48	.85 / sqm	Rs 43	3906.43			
11	50.9.13.1 Supplying and fixing An materials etc. complete 50% demolished portion		wrought and	out up for ro			ı				
11	Supplying and fixing An materials etc. complete	ther E	wrought and	out up for ro	oof members	s including o	cost and cor	0.062 m3 wood for 1m2 roof			
11	Supplying and fixing An materials etc. complete 50% demolished portion  Additional Rafters	ther E	wrought and ngineeri	out up for rong Org	pof members	s including o	27.590	0.062 m3 wood for 1m2 roof area .0036m3 wood for 1m2 of roof area			
11	Supplying and fixing An materials etc. complete 50% demolished portion  Additional Rafters	ther E	wrought and ngineeri	0.062 0.0036	pof members	0.5	27.590 3.204	0.062 m3 wood for 1m2 roof area .0036m3 wood for 1m2 of roof area			
11	Supplying and fixing An materials etc. complete 50% demolished portion  Additional Rafters	ther E	wrought and ngineeri	0.062 0.0036	Total Deducted	0.5	27.590 3.204	0.062 m3 wood for 1m2 roof area .0036m3 wood for 1m2 of roof area			
11	Supplying and fixing An materials etc. complete 50% demolished portion  Additional Rafters	ther E	wrought and ngineeri 890.000	0.062 0.0036	Total Deducted	0.5  O.5  O.5  O.4  O.5	27.590 3.204 30.794 cu 30.794 cu	0.062 m3 wood for 1m2 roof area .0036m3 wood for 1m2 of roof area			
11	Supplying and fixing An materials etc. complete 50% demolished portion  Additional Rafters	ther E	890.000  890.000  Say 3	0.062  0.0036  To  0.794 cum	Total Deducted  Net Total  @ Rs 87404	0.5  O.5  O.5  O.5  O.5  O.5  O.5  O.5	27.590 3.204 30.794 cu 0.000 cun 30.794 cu Rs 269	0.062 m3 wood for 1m2 roof area .0036m3 wood for 1m2 of roof area			
	Supplying and fixing An materials etc. complete  50% demolished portion  Additional Rafters (0.05x0.025)  od160558/2019_2020 Roofing with Decra roof	ther E	890.000  890.000  Say 3	0.062  0.0036  To  0.794 cum	Total Deducted  Net Total  @ Rs 87404	0.5  O.5  O.5  O.5  O.5  O.5  O.5  O.5	27.590 3.204 30.794 cu 0.000 cun 30.794 cu Rs 269	0.062 m3 wood for 1m2 roof area .0036m3 wood for 1m2 of roof area			

				To	tal Deducte	d Quantity	0.000 per	sqm	
						al Quantity	889.800 p	-	
		S	ay 889.800	per sqm @	Rs 2205.69	/ per sqm	Rs 196	2622.96	
Stee cutt	16.1 el work in built up ing, hoisting, fixing I bolted with special	position an	d applying	a priming co	at of appro	ved steel pr	imer, includ	•	
Fra ceil	me work for false ing	1	400.000			3.0	1200.000	3kg/m2 o false ceiling	
			Frame f	or chain link	fencing				
	tical and horizontal mbers	1	210.000	A	1.500	25.0	7875.000		
		-	E3 8		Tota	al Quantity	9075.000	kg	
		610	Y R	To	tal Deducte	d Quantity	0.000 kg		
		15			Net Tota	al Quantity	9075.000	kg	
		101	S	ay 9075.000	kg @ Rs 1	34.21 / kg	Rs 121	7955.75	
	ing of approved quane work shall be pa		121116611	20.000	M	screws etc	400.000	aluminiur	
	Total Quantity 400.000 sqm								
				To					
				То	tal Deducte	d Quantity	0.000 sqm	1	
			Say	To 400.000 sqr	tal Deducte Net Tota	d Quantity	0.000 sqm 400.000 s	า	
	9.15.2 oplying and fixing 30	0 mm Alum	•	400.000 sqr	tal Deducte Net Tota	d Quantity	0.000 sqm 400.000 s	n qm	
		0 mm Alum 15	•	400.000 sqr	tal Deducte Net Tota	d Quantity	0.000 sqm 400.000 s	n qm	
			•	400.000 sqr	ntal Deducte Net Tota m @ Rs 673	d Quantity	0.000 sqm 400.000 s Rs 269	qm <b>9400.00</b>	
			•	400.000 sqr	ntal Deducte Net Tota m @ Rs 673	d Quantity al Quantity 3.50 / sqm	0.000 sqm 400.000 s Rs 269	qm <b>9400.00</b>	
			•	400.000 sqr	Net Tota  Rs 673  Tota  tal Deducte	d Quantity al Quantity 3.50 / sqm	0.000 sqm 400.000 s Rs 269 15.000	qm 9400.00	
			•	400.000 sqr	Net Tota Tota stal Deducte  Net Tota Net Tota	d Quantity al Quantity 3.50 / sqm al Quantity d Quantity al Quantity	0.000 sqm 400.000 s Rs 269 15.000 15.000 no 0.000 no	qm 9400.00	
16 50.9	oplying and fixing 30	15	inium aldrop	400.000 sqr	Net Tota Tota stal Deducte  Net Tota Net Tota	d Quantity al Quantity 3.50 / sqm al Quantity d Quantity al Quantity	0.000 sqm 400.000 s Rs 269 15.000 15.000 no 0.000 no	9400.00	
16 50.9	oplying and fixing 30	15	inium aldrop	400.000 sqr	Net Tota Tota stal Deducte  Net Tota Net Tota	d Quantity al Quantity 3.50 / sqm al Quantity d Quantity al Quantity	0.000 sqm 400.000 s Rs 269 15.000 15.000 no 0.000 no	9400.00	

					otal Deducte Net Tota	al Quantity	0.000 no 25.000 no	)
				Say 25.00	0 no @ Rs			807.25
17	50.14.1.1 Removing and refixing as per the direction of s			essary repa			nd closing e	tc complete
		30					30.000	
					Tota	al Quantity	30.000 ea	ach
				To	otal Deducte	d Quantity	0.000 eac	ch
			Can	P. C.	Net Tota	al Quantity	30.000 ea	ach
			Say	30.000 eacl	n @ Rs 295	.79 / each	Rs 88	873.70
	Removing and refixing complete as per the comp	direction of			11. 70. 1	or easy op		closing etc
		25				10 "	25.000	
		3/7		in of 554	APP.	al Quantity	25.000 each 0.000 each	
				10		a Chiantity		
		41 E		a a	otal Deducte			
	0	ther En	ngineeri Sav	ng Orga	Net Tota	al Quantity	25.000 ea	ach
19	16.70.2 Providing and fixing G strengthening with 2 mr Engineer-in- charge.Ma in required colour and s	.l. chain lin m dia wire c ade of G.I w	Say uk fabric fen or nuts , bolt	ng Orga 25.000 each	Net Tota  n @ Rs 209  ulired width  ers as require	al Quantity  67 / each  in mesh sized complete	25.000 ea Rs 5 re 50x50 m e as per the	ach  241.75  m including direction of
19	16.70.2 Providing and fixing G strengthening with 2 mr Engineer-in- charge.Ma	.l. chain lin m dia wire c ade of G.I w	Say uk fabric fen or nuts , bolt	ng Orga 25.000 each	Net Tota  n @ Rs 209  ulired width  ers as require	al Quantity  67 / each  in mesh sized complete	25.000 ea Rs 5 re 50x50 m e as per the	ach  241.75  m including direction of
19	16.70.2 Providing and fixing G strengthening with 2 mr Engineer-in- charge.Ma in required colour and s	.l. chain lin m dia wire d ade of G.I w shade	Say ok fabric fen or nuts , bolt vire of dia 4	ng Orga 25.000 each	Net Total n @ Rs 209 uired width ers as required to ach	al Quantity  67 / each  in mesh sized complete	25.000 ear Rs 52 re 50x50 mile as per the dia. not less	m including direction of than 5 mm
19	16.70.2 Providing and fixing G strengthening with 2 mr Engineer-in- charge.Ma in required colour and s	.l. chain lin m dia wire d ade of G.I w shade	Say ok fabric fen or nuts , bolt vire of dia 4	25.000 each	Net Total n @ Rs 209 uired width ers as required to ach	al Quantity  67 / each  in mesh sized completenieve outer of the completenieve outer outer of the completenieve outer ou	25.000 eares 25.00	m including direction of than 5 mm
19	16.70.2 Providing and fixing G strengthening with 2 mr Engineer-in- charge.Ma in required colour and s	.l. chain lin m dia wire d ade of G.I w shade	Say ok fabric fen or nuts , bolt vire of dia 4	25.000 each	Net Total  n @ Rs 209  uired width ers as required to ach  1.500  Total  otal Deducte	al Quantity  67 / each  in mesh sized completenieve outer of the completenieve outer outer of the completenieve outer ou	25.000 ea Rs 52 2e 50x50 mage as per the dia. not less 315.000 s	m including direction of than 5 mm
19	16.70.2 Providing and fixing G strengthening with 2 mr Engineer-in- charge.Ma in required colour and s	.l. chain lin m dia wire d ade of G.I w shade	Say ok fabric fen or nuts , bolts vire of dia 4	25.000 each	Net Tota  n @ Rs 209  uired width ers as required to ach  1.500  Tota  otal Deducte  Net Tota	al Quantity  67 / each  in mesh sized complete nieve outer of	25.000 ea Rs 52 2e 50x50 mile as per the dia. not less 315.000 s 0.000 sqn 315.000 s	m including direction of than 5 mm
20	16.70.2 Providing and fixing G strengthening with 2 mr Engineer-in- charge.Ma in required colour and s	.l. chain ling dia wire cade of G.I washade	Say uk fabric fen or nuts , bolts vire of dia 4  210.000  Say	25.000 each cing of requisions and washed mm. PVC constant and the second secon	Net Total  n @ Rs 209  uired width ers as required to ach  1.500  Total  otal Deducte  Net Total  m @ Rs 884  fied grade e	al Quantity  67 / each  in mesh sized complete nieve outer of al Quantity d Quantity al Quantity al Quantity al Quantity al Quantity excluding the	25.000 ea  Rs 52  2e 50x50 m e as per the dia. not less  315.000 s  0.000 sqn  315.000 s  Rs 276  e cost of ce	m including direction of than 5 mm agm agm agm and and and and and agreements agreements and agreements agreements agreement a

						al Quantity	4.293 cur	
				To	otal Deducte	d Quantity	0.000 cur	n
					Net Tota	al Quantity	4.293 cur	n
			Say	y 4.293 cum	n @ Rs 7326	6.94 / cum	Rs 31	454.55
21	13.68.1 French spirit polishing:	Two or more	e coats on ne	ew works in	cluding a co	at of wood f	iller	
		6	1.000	1.000			6.000	
					Tota	al Quantity	6.000 sqr	n
				To	otal Deducte	d Quantity	0.000 sqr	n
					Net Tota	al Quantity	6.000 sqr	
	Say 6.000 sqm @ Rs 311.92 / sqm							871.52
22	od170779/2019_2020 Providing and fixing CH	IR O. Head	shower of s	uperior qua	lity Jaguar o	r equivalent	brand.	
		3	1 112	51/1			3.000	
					Tota	al Quantity	3.000 ead	:h
		1016	50	Т	otal Deducte	d Quantity	0.000 ead	:h
				10 01	Net Tota	al Quantity	3.000 ead	:h
	Say 3.000 each @ Rs 1301.72 / each							905.16
23	od170780/2019_2020 Providing and fixing 47	7 CHR Sho	wer arm Lig	ht of approv	ed quality J	aguar or eq	uivalent bra	nd:
	3 3	3	Ĭ				3.000	
					Tota	al Quantity	3.000 ead	:h
	Total Deducted Quantity							:h
	Net Total Quantity							:h
			Say	y 3.000 eac	h @ Rs 604	.83 / each	Rs 1	814.49
24	od170781/2019_2020 Providing and fixing (U	NOOO2) Liniv	versal Angle	Cock of su	perior quality	/ laguar or	equivalent	
	Troviding and fixing (O	13	rerour 7 trigie	OCCIT OF SU	perior quality	y dagaar or	13.000	
		13			Total	al Ouantitu		a b
				<del>-</del>		al Quantity	13.000 ea	
				10	otal Deducte		0.000 ead	
						al Quantity	13.000 ea	
			Say	13.000 eac	h @ Rs 548	.38 / each	Rs 7	128.94
25	50.17.1.5 Supplying and fixing 0 materials and labour 0		-		, •	•	•	-

		8					8.000	
					Tot	al Quantity	8.000 no	
				To	tal Deducte	ed Quantity	0.000 no	
					Net Tot	al Quantity	8.000 no	
				Say 8.000 r	no @ Rs 12	280.63 / no	Rs 10	245.04
26	od170783/2019_2020 Providing and fixing C frame with C.P. brass complete. JAQUAR A0	brackets ar	nd guard ra	ail complete f				_
		8					8.000	
				6	Tot	al Quantity	8.000 eac	:h
		ed Quantity	0.000 eac	:h				
		-	E.2 1		Net Tot	al Quantity	8.000 eac	:h
		6,0	Say	y 8.000 each	@ Rs 1249	).99 / each	Rs 99	999.92
27	od170784/2019_2020 Providing and fixing (0) brand brand brand	89 ALD c) s	stop cock o	f superior qua	ality 15 mm	nominal bo	re Jaguar o	r equivale
		13	R COL	in of 2			13.000	
		ther Er	ngineer	ino Oro:	. Tot	al Quantity	13.000 ea	ıch
			igmoor -		tal Deducte		0.000 eac	:h
			K_		Net Tot	al Quantity	13.000 ea	ıch
			Say	13.000 each	@ Rs 1011	.35 / each	Rs 13	147.55
28	od170785/2019_2020 Providing and fixing s weighing not less tha		•	d CP Soap [	Dish Holde	r concealed	d fitting arra	angemen
		13					13.000	
					Tot	al Quantity	13.000 ea	ıch
				To	tal Deducte	ed Quantity	0.000 eac	:h
	Net Total Quantity						13.000 ea	ıch
	Say 13.000 each @ Rs 775.00 / each						Rs 10	075.00
29	-	od170786/2019_2020 Providing and fixing C.P. brass bib cock of superior quality Jaguar or equiv						nforming
		13					13.000	

mm C. P. brass pillar taps with C.I. brackets, 32 mm waste pipe of standard pattern, including painting					То	tal Deducte	d Quantity	0.000 eac	:h
od170787/2019_2020 Providing and fixing Towel Rack SS 24* superior quality branded item JAQUAR ACN-1181: Equivalent 						Net Tota	al Quantity	13.000 ea	ach
Providing and fixing Towel Rack SS 24" superior quality branded item JAQUAR ACN-1181: Equivalent   3				Say 1	13.000 each	@ Rs 1543	.37 / each	Rs 20	063.81
Total Quantity   3,000 each   Total Deducted Quantity   0,000 each   Net Total Quantity   3,000 each   Rs 8700.00	30	Providing and fixing	Towel Rac	k SS 24" s	superior qua	ality brande	ed item JA	QUAR ACI	N-1181S o
Net Total Quantity   3.000 each   Say 3.000 each   @ Rs 2900.00 / each   Rs 8700.00			3			Tota	al Quantity		:h
Say 3.000 each @ Rs 2900.00 / each  Od170788/2019_2020 Providing and fixing Cavier SS towel rod complete with brackets fixed to wooden cleats with CP b screws with concealed fitting arrangement of approved quality and colour. JAQUAR ACN-1111SI Equivalent Equivalent 13 13.000   Total Quantity 13.000 each   Net Total Quantity 13.000 each   Net Total Quantity 13.000 each   Providing and fixing C.P. brass toilet paper holder of superior quality branded item. JAQUAR A 35753PS Total Deducted Quantity 3.000 each   Total Deducted Quantity 0.000 each   Total Deducted Quantity 0.000 each   Net Total Quantity 3.000 each   Rs 5025.00 Rs 5025.00    33  od170790/2019_2020  Providing and fixing superior quality White Vitreous China Wash basin size 630x450 mm with a pair of mm C. P. brass pillar taps with C.I. brackets, 32 mm waste pipe of standard pattern, including paintir fittings and brackets, cutting and making good the walls wherever required ect. complete: JAQUAR A WHT-39803 or Equivalent WHT-39803 or Equivalent Say 3.000 each Total Quantity 13.000 each   Total Quantity 13.000 each					То	tal Deducte	d Quantity	0.000 eac	:h
od170788/2019_2020 Providing and fixing Cavier SS towel rod complete with brackets fixed to wooden cleats with CP b screws with concealed fitting arrangement of approved quality and colour. JAQUAR ACN-1111SI Equivalent Equivalent 13 13.000   13 13.000 ach   Total Quantity 13.000 each   Net Total Quantity 13.000 each   Say 13.000 each @ Rs 1375.00 / each Rs 17875.00   32 od170789/2019_2020 Providing and fixing G.P. brass toilet paper holder of superior quality branded item. JAQUAR A 35753PS 3 3.000   35 Total Quantity 3.000 each   Total Deducted Quantity 0.000 each   Net Total Quantity 3.000 each   Net Total Quantity 3.000 each   Rs 5025.00 Rs 5025.00   33 od170790/2019_2020   Providing and fixing superior quality White Vitreous China Wash basin size 630x450 mm with a pair of mm C. P. brass pillar taps with C.I. brackets, 32 mm waste pipe of standard pattern, including paintifittings and brackets, cutting and making good the walls wherever required ect. complete: JAQUAR A WHT-39803 or Equivalent br> 13 13.000   Total Quantity 13.000 each						Net Tota	al Quantity	3.000 eac	ch
Providing and fixing Cavier SS towel rod complete with brackets fixed to wooden cleats with CP b screws with concealed fitting arrangement of approved quality and colour. JAQUAR ACN-1111SI Equivalent 				Say	3.000 each	@ Rs 2900	.00 / each	Rs 8	700.00
Total Quantity 13.000 each  Total Deducted Quantity 0.000 each  Net Total Quantity 13.000 each  Say 13.000 each © Rs 1375.00 / each Rs 17875.00  Providing and fixing C.P. brass toilet paper holder of superior quality branded item. JAQUAR A 35753PS 3 3 3.000 each  Total Quantity 0.000 each  Total Deducted Quantity 0.000 each  Net Total Quantity 3.000 each  Net Total Quantity 3.000 each  Say 3.000 each © Rs 1675.00 / each Rs 5025.00  3 od170790/2019_2020  Providing and fixing superior quality White Vitreous China Wash basin size 630x450 mm with a pair of mm C. P. brass pillar taps with C.I. brackets, 32 mm waste pipe of standard pattern, including painting fittings and brackets, cutting and making good the walls wherever required ect. complete: JAQUAR A WHT-39803 or Equivalent WHT-39803 or Equivalent 13 13.000 each		screws with concealed	d fitting arra					QUAR ACN-	
Total Deducted Quantity 0.000 each  Net Total Quantity 13.000 each  Say 13.000 each © Rs 1375.00 / each Rs 17875.00  Od170789/2019_2020 Providing and fixing C.P. brass toilet paper holder of superior quality branded item. JAQUAR A 35753PS 3 3 3.000 acch  Total Quantity 3.000 each  Total Deducted Quantity 0.000 each  Net Total Quantity 3.000 each  Net Total Quantity 3.000 each  Say 3.000 each © Rs 1675.00 / each Rs 5025.00  33 od170790/2019_2020 Providing and fixing superior quality White Vitreous China Wash basin size 630x450 mm with a pair of mm C. P. brass pillar taps with C.I. brackets, 32 mm waste pipe of standard pattern, including painting fittings and brackets, cutting and making good the walls wherever required ect. complete: JAQUAR A WHT-39803 or Equivalent WHT-39803 or Equivalent 13 13.000 each			13			1	10		
Net Total Quantity  Say 13.000 each @ Rs 1375.00 / each  Providing and fixing C.P. brass toilet paper holder of superior quality branded item. JAQUAR A 35753PS 3 3.000 acch  Total Quantity 3.000 each  Total Deducted Quantity 0.000 each  Net Total Quantity 3.000 each  Net Total Quantity 3.000 each  Say 3.000 each @ Rs 1675.00 / each Rs 5025.00  33 od170790/2019_2020  Providing and fixing superior quality White Vitreous China Wash basin size 630x450 mm with a pair of mm C. P. brass pillar taps with C.I. brackets, 32 mm waste pipe of standard pattern, including painting fittings and brackets, cutting and making good the walls wherever required ect. complete: JAQUAR A WHT-39803 or Equivalent WHT-39803 or Equivalent 13 13.000 each									
Say 13.000 each @ Rs 1375.00 / each  Od170789/2019_2020 Providing and fixing C.P. brass toilet paper holder of superior quality branded item. JAQUAR A 35753PS 3 3.000 Total Quantity 3.000 each  Total Deducted Quantity 0.000 each  Net Total Quantity 3.000 each  Say 3.000 each @ Rs 1675.00 / each Rs 5025.00  3 od170790/2019_2020 Providing and fixing superior quality White Vitreous China Wash basin size 630x450 mm with a pair of mm C. P. brass pillar taps with C.I. brackets, 32 mm waste pipe of standard pattern, including painting fittings and brackets, cutting and making good the walls wherever required ect. complete: JAQUAR A WHT-39803 or Equivalent WHT-39803 or Equivalent Total Quantity 13.000 each									
od170789/2019_2020 Providing and fixing C.P. brass toilet paper holder of superior quality branded item. JAQUAR A 35753PS 3 3 3.000 Total Quantity 3.000 each Total Deducted Quantity 0.000 each Net Total Quantity 3.000 each Say 3.000 each @ Rs 1675.00 / each Rs 5025.00  3 0d170790/2019_2020 Providing and fixing superior quality White Vitreous China Wash basin size 630x450 mm with a pair of mm C. P. brass pillar taps with C.I. brackets, 32 mm waste pipe of standard pattern, including painting fittings and brackets, cutting and making good the walls wherever required ect. complete: JAQUAR A WHT-39803 or Equivalent brackets, 13 13.000 Total Quantity 13.000 each		C	ther Er	gineeri Sav 1	ng Orga	anisatic	ns		
Total Quantity 3.000 each  Total Deducted Quantity 0.000 each  Net Total Quantity 3.000 each  Say 3.000 each @ Rs 1675.00 / each Rs 5025.00  Providing and fixing superior quality White Vitreous China Wash basin size 630x450 mm with a pair of mm C. P. brass pillar taps with C.I. brackets, 32 mm waste pipe of standard pattern, including paintir fittings and brackets, cutting and making good the walls wherever required ect. complete: JAQUAR AWHT-39803 or Equivalent WHT-39803 or Equivalent 13 13.000 each	32	Providing and fixing (	C.P. brass t	2		T	1	d item. JAC	QUAR AKP
Total Deducted Quantity 0.000 each  Net Total Quantity 3.000 each  Say 3.000 each @ Rs 1675.00 / each  Rs 5025.00  Providing and fixing superior quality White Vitreous China Wash basin size 630x450 mm with a pair of mm C. P. brass pillar taps with C.I. brackets, 32 mm waste pipe of standard pattern, including paintir fittings and brackets, cutting and making good the walls wherever required ect. complete: JAQUAR AWHT-39803 or Equivalent WHT-39803 or Equivalent 13 13.000 Total Quantity 13.000 each			3					3.000	
Net Total Quantity  3.000 each  Say 3.000 each @ Rs 1675.00 / each  Rs 5025.00  Providing and fixing superior quality White Vitreous China Wash basin size 630x450 mm with a pair of mm C. P. brass pillar taps with C.I. brackets, 32 mm waste pipe of standard pattern, including painting fittings and brackets, cutting and making good the walls wherever required ect. complete: JAQUAR AWHT-39803 or Equivalent WHT-39803 or Equivalent 13  13.000 each						Tota	al Quantity	3.000 eac	h
Say 3.000 each @ Rs 1675.00 / each  Rs 5025.00  Od170790/2019_2020  Providing and fixing superior quality White Vitreous China Wash basin size 630x450 mm with a pair of mm C. P. brass pillar taps with C.I. brackets, 32 mm waste pipe of standard pattern, including paintir fittings and brackets, cutting and making good the walls wherever required ect. complete: JAQUAR AWHT-39803 or Equivalent WHT-39803 or Equivalent 13  13.000  Total Quantity  13.000 each					То	tal Deducte	d Quantity	0.000 eac	h
Od170790/2019_2020 Providing and fixing superior quality White Vitreous China Wash basin size 630x450 mm with a pair of mm C. P. brass pillar taps with C.I. brackets, 32 mm waste pipe of standard pattern, including painting fittings and brackets, cutting and making good the walls wherever required ect. complete: JAQUAR AWHT-39803 or Equivalent<						Net Tota	al Quantity	3.000 eac	h
Providing and fixing superior quality White Vitreous China Wash basin size 630x450 mm with a pair of mm C. P. brass pillar taps with C.I. brackets, 32 mm waste pipe of standard pattern, including painting fittings and brackets, cutting and making good the walls wherever required ect. complete: JAQUAR AWHT-39803 or Equivalent WHT-39803 or Equivalent 13 13.000 Total Quantity				Say	3.000 each	@ Rs 1675	.00 / each	Rs 5	025.00
Total Quantity 13.000 each	33	od170790/2019_2020  Providing and fixing superior quality White Vitreous China Wash basin size 630x450 mm with a pair of mm C. P. brass pillar taps with C.I. brackets, 32 mm waste pipe of standard pattern, including painting fittings and brackets, cutting and making good the walls wherever required ect. complete: JAQUAR AR							
			13					13.000	
Total Deducted Quantity 0.000 each						Tota	al Quantity	13.000 ea	ach
					То	tal Deducte	d Quantity	0.000 eac	ch

					Net Tota	al Quantity	13.000 ea	ch
			Say 1	3.000 each	@ Rs 9340.	.00 / each	Rs 12	1420.00
34	od170791/2019_2020 Providing and fixing supseat and lid, 10 litre to C.I.brackets, 40 mm fl proof coupling of approand making good the viseat and lid JAQUAR complete, including pawherever required: W.	ow level who with the wed municipy walls and flow LYS-WHT inting of fitt	nite vitreous overflow arr pal design o pors wherev -38851S30 ings and br	s china flush cangement v complete, incover required: 00UFSM or ackets, cutti	ning cistern vith specials luding paint W.C. pan Equivalent ng and mak	& C.P. flusts of standating of fitting with ISI machine controllers with standard controllers with standard controllers with the contro	sh bend wit rd make an gs and brack rked white s oved munic	h fittings of mosquit kets, cutting solid plasti
		8					8.000	
			160	165	Tota	al Quantity	8.000 eac	h
			-0	То	tal Deducte	d Quantity	0.000 eac	h
		1	34 9		Net Tota	al Quantity	8.000 eac	h
		11	Say 8	3.000 each @	Rs 24590.	.00 / each	Rs 196	6720.00
	Single socketed pipes.	the En	115,000		tal Deducte	al Quantity	115.000 n 115.000 n 0.000 met	re
			Say 11	5.000 metre	@ Rs 351.4	18 / metre	Rs 40	420.20
36	12.42.4.2 Providing and fixing on PVC rain water pipes c 5382, leaving 10 mm g	onforming t	o IS : 13592	2 Type A, inc	luding jointi	ng with sea	I ring confor	•
			1	1	Tota	al Quantity	25.000 ea	ch
				То	tal Deducte	·	0.000 eac	
					Net Tota	al Quantity	25.000 ea	ch
			Say	25.000 each	n @ Rs 249.	.24 / each	Rs 62	231.00
37	Say 25.000 each @ Rs 249.24 / each  12.42.5.2  Providing and fixing on wall face unplasticised- PVC moulded fittings/ accessories for unplasticised Rig PVC rain water pipes conforming to IS: 13592 Type A, including jointing with seal ring conforming to IS 5382, leaving 10 mm gap for thermal expansionBend 87.5 <sup>0</sup> 110 mm bend							

			1					
		52					52.000	
					Tota	al Quantity	52.000 ea	ach
				To	otal Deducte	d Quantity	0.000 eac	ch
					Net Tota	al Quantity	52.000 ea	ach
			Say	52.000 eac	h @ Rs 168	.19 / each	Rs 8	745.88
38	18.8.2 Providing and fixing Chwater supply, including spacing. This includes cutting chases and m Engineer-in-Charge. Conominal outer dia pipe	all CPVC position in the property of aking good concealed was all the property of the property	plain & bras pipes& fitti If the same	s threaded to ngs, with or including t	fittings i/c fix ne step CP\ esting of jo	ting the pipe C solvent of the sints of the	e with clamp cement and ete as per	os at 1.00 m the cost of direction of
		1	30.000				30.000	
		1	£3 B		Tota	al Quantity	30.000 m	etre
		610	W. P.	To	otal Deducte	d Quantity	0.000 me	tre
		B	TO THE		Net Tota	al Quantity	30.000 m	etre
		101	Say 3	0.000 metre	@ Rs 423.0	60 / metre	Rs 12	2708.00
	Providing and fixing Ch				,	•	-	
	Providing and fixing Ch water supply, including spacing. This includes cutting chases and m Engineer-in-Charge. C nominal outer dia pipe	all CPVC pointing of aking good concealed v	plain & bras pipes& fitti the same	s threaded to ngs, with or including t	fittings i/c fix ne step CP\ esting of jo	ting the pipe C solvent of the solution of the	e with clamp cement and ete as per	os at 1.00 m the cost of direction of
	water supply, including spacing. This includes cutting chases and m Engineer-in-Charge.	all CPVC pointing of aking good concealed v	plain & bras pipes& fitti the same	s threaded to ngs, with or including t	fittings i/c fix ne step CP\ esting of jo	ting the pipe C solvent of the solution of the	e with clamp cement and ete as per	os at 1.00 m the cost of direction of
	water supply, including spacing. This includes cutting chases and m Engineer-in-Charge.	all CPVC pointing of aking good concealed ves	plain & bras pipes& fitti I the same vork, includ	s threaded to ngs, with or including t	fittings i/c fix ne step CPV esting of jo chases and	ting the pipe C solvent of the solution of the	e with clamp cement and ete as per ood the wall	the cost of direction of etc.32 mm
	water supply, including spacing. This includes cutting chases and m Engineer-in-Charge.	all CPVC pointing of aking good concealed ves	plain & bras pipes& fitti I the same vork, includ	s threaded to mgs, with or including thing cutting	fittings i/c fix ne step CPV esting of jo chases and	ring the pipe /C solvent of ints comple making go	e with clamp cement and ete as per od the wall 24.000	etre
	water supply, including spacing. This includes cutting chases and m Engineer-in-Charge.	all CPVC pointing of aking good concealed ves	plain & bras pipes& fitti I the same vork, includ	s threaded to mgs, with or including thing cutting	ittings i/c fix ne step CPV esting of jo chases and Tota	ring the pipe /C solvent of ints comple making go	e with clamp cement and ete as per od the wall 24.000	etre
	water supply, including spacing. This includes cutting chases and m Engineer-in-Charge.	all CPVC pointing of aking good concealed ves	plain & bras pipes& fitti the same vork, include 24.000	s threaded to mgs, with or including thing cutting	Total Deducte	cing the pipe /C solvent of ints completed making got all Quantity all Quantity all Quantity	e with clamp cement and ete as per od the wall 24.000 24.000 m 0.000 me	etre
40	water supply, including spacing. This includes cutting chases and m Engineer-in-Charge.	all CPVC pointing of aking good concealed ves	plain & bras pipes& fitti the same vork, includ 24.000  Say 2  olyvinyl Chi lain & brass ent, trenchir	s threaded to ngs, with or including to the ding cutting.  To the ding to the	Total Deducte Net Total  C) pipes, haittings. This & testing of	cing the pipe /C solvent of ints comple ints comple in making go al Quantity al Quantity al Quantity 22 / metre ving thermal includes joints includes joints with the complex control of the control of t	e with clamp cement and ete as per od the wall 24.000 m 0.000 me 24.000 m Rs 14	etre tre etre 1736.48  or hot & coldes & fittings
40	water supply, including spacing. This includes cutting chases and m Engineer-in-Charge. Conominal outer dia pipe 18.9.5  Providing and fixing Charter supply including with one step CPVC so	all CPVC pointing of aking good concealed ves	plain & bras pipes& fitti the same vork, includ 24.000  Say 2  olyvinyl Chi lain & brass ent, trenchir	s threaded to ngs, with or including to the ding cutting.  To the ding to the	Total Deducte Net Total  C) pipes, haittings. This & testing of	cing the pipe /C solvent of ints comple ints comple in making go al Quantity al Quantity al Quantity 22 / metre ving thermal includes joints includes joints with the complex control of the control of t	e with clamp cement and ete as per od the wall 24.000 m 0.000 me 24.000 m Rs 14	etre tre etre 1736.48  or hot & coldes & fittings
40	water supply, including spacing. This includes cutting chases and m Engineer-in-Charge. Conominal outer dia pipe 18.9.5  Providing and fixing Charter supply including with one step CPVC so	all CPVC polynting of aking good concealed ves 1	plain & bras pipes& fitti the same vork, includ 24.000  Say 2  olyvinyl Chi lain & brass ent, trenchir rk40 mm no	s threaded to ngs, with or including to the ding cutting.  To the ding to the	Total Deducte  Net Total  C) pipes, ha  ittings i/c fix  re step CP\ esting of jour chases and  Total  Otal Deducte  Net Total  E) pipes, ha  ittings. This  & testing of dia pipes	cing the pipe /C solvent of ints comple ints comple in making go al Quantity al Quantity al Quantity 22 / metre ving thermal includes joints includes joints with the complex control of the control of t	e with clamp cement and ete as per od the wall 24.000 m 0.000 me 24.000 m Rs 14	etre tre etre 4736.48  or hot & coldes & fittings direction of
40	water supply, including spacing. This includes cutting chases and m Engineer-in-Charge. Conominal outer dia pipe 18.9.5  Providing and fixing Charter supply including with one step CPVC so	all CPVC polynting of aking good concealed ves 1	plain & bras pipes& fitti the same vork, includ 24.000  Say 2  olyvinyl Chi lain & brass ent, trenchir rk40 mm no	s threaded to ngs, with or including to the ding cutting.  To the ding cutting to the ding of the ding	Total Deducte  Net Total  C) pipes, ha  ittings i/c fix  re step CP\ esting of jour chases and  Total  Otal Deducte  Net Total  E) pipes, ha  ittings. This  & testing of dia pipes	cing the pipe //C solvent of ints completed ints completed in a Quantity of Qu	e with clamp cement and ete as per od the wall 24.000 m 0.000 me 24.000 m Rs 14	etre  1736.48  Thot & coldes & fittings direction of etre

			Say	26.000 metre	@ Rs 477.	58 / metre	Rs 12	417.08
41	17.60.2.1 Providing and fixing traccomplete, including coutletSand cast iron	ost of cutti	ng and ma	king good th			_	
		5					5.000	
					Tota	al Quantity	5.000 eac	h
				To	tal Deducte	d Quantity	0.000 eac	h
					Net Tota	al Quantity	5.000 eac	h
		.36 / each	Rs 79	76.80				
42	9.63.1 Providing and fixing IS etc. complete:250x10		kidised M.S	. tower bolt b	lack finish, (	Barrel type)	with necess	sary scre
		96			7		96.000	
		11	1 1	RAKA	Tota	al Quantity	96.000 no	
		Total Deducted Quantity						
		48(92)			Net Tota	al Quantity	96.000 no	
			selling	Say 96.00	0 no @ Rs	95.17 / no	Rs 91	36.32
43	9.76 Providing and fixing br	ther En	ngineer	ing Org	anicatio	ns		
	handles of approved q					ock with 6 le	vers and a p	pair of lev
						ock with 6 le	32.000	pair of lev
		uality with r			omplete.	ock with 6 le		
		uality with r		crews etc. co	omplete.	al Quantity	32.000	
		uality with r		crews etc. co	Total Deducte	al Quantity	32.000 32.000 no	
		uality with r		To	Total Deducte	al Quantity d Quantity al Quantity	32.000 no 32.000 no 0.000 no 32.000 no	
44		32	necessary s	To Say 32.000	Total Deducte  Net Total no @ Rs 8.	al Quantity d Quantity al Quantity 27.50 / no	32.000 no 32.000 no 0.000 no 32.000 no Rs 26	480.00
44	9.78 Providing and fixing br	32	necessary s	To Say 32.000	Total Deducte  Net Total no @ Rs 8.	al Quantity d Quantity al Quantity 27.50 / no	32.000 no 32.000 no 0.000 no 32.000 no Rs 26	480.00
44	9.78 Providing and fixing br	right finished	necessary s	To Say 32.000	Total Deducte  Net Total  no @ Rs 8.	al Quantity d Quantity al Quantity 27.50 / no	32.000 no 0.000 no 32.000 no Rs 26	480.00
44	9.78 Providing and fixing br	right finished	necessary s	To Say 32.000	Total Deducte  Net Total  no @ Rs 8.	al Quantity d Quantity al Quantity 27.50 / no ity including	32.000 no 32.000 no 32.000 no Rs 26	480.00
44	9.78 Providing and fixing br	right finished	necessary s	To Say 32.000	Total Deducte  Net Total  no @ Rs 8.  proved qual  Total  otal Deducte	al Quantity d Quantity al Quantity 27.50 / no ity including	32.000 no 32.000 no 32.000 no Rs 26 necessary 3.000 3.000 no	480.00
44	9.78 Providing and fixing br	right finished	necessary s	To Say 32.000 ht latch of ap	Total Deducte  Net Total  no @ Rs 8.  proved qual  Total  otal Deducte	al Quantity d Quantity al Quantity 27.50 / no lity including al Quantity d Quantity al Quantity	32.000 no 32.000 no 0.000 no 32.000 no Rs 26 necessary 3.000 3.000 no 0.000 no	480.00

		2 APPENDIX	( B- SERVIC	E BLOCK	RENOV	ATION					
1	15.23.1 Dismantling tile worlead.For thickness			cement mo	rtar inclu	ding stacking n	naterial withir	n 50 metre			
	ROOM 1	1	4.600	5.200			23.920				
		1	6.900	2.100			14.491				
		1	2.250	4.250			9.563				
		1	2.200	3.250			7.150				
		1	2.200	2.300			5.060				
	ROOM 2	1	4.600	5.200			23.920				
		1	2.550	2.100			5.355				
	DORMITORY	1	6.900	5.200			35.880				
		1	6.000	2.100	1		12.601				
		1	2.000	4.000	( )		8.000				
		1	2.000	3.150	IN	3.1	6.300				
		1	2.000	2.300	12	all free de la constitución de l	4.600				
	VERANDAH	1	16.500	2.300	2		37.950				
	STEPS	3 _	2.000	0.500	0	. •	3.000				
		Other Er	1.500	ng Org 0.500	anisa	tions	4.500				
						Total Quantity	202.290 s	qm			
		Total Deducted Quantity									
		202.290 sqm									
			Say	y 202.290 s	qm @ R	s 46.92 / sqm	Rs 94	191.45			
2	15.56 Dismantling old pla of rubbish to the du				eaning th	e surface for p	laster includi	ng dispo			
	VERANDAH	1	16.200	3.500			56.700				
		1	2.000	3.500			7.000				
	ROOMS	6	4.300	3.500			90.300				
		4	4.900	3.500			68.601				
		2	6.600	3.500			46.200				
	1	2	1.950	3.000			11.700				
		2	3.950	3.000			23.701				
		2	1.900	3.000			11.400				

					1	İ	1	1		
		2	2.950	3.000			17.701			
		2	1.900	3.000			11.400			
		2	2.000	3.000			12.000			
	2	2	6.600	3.000			39.600			
		2	1.800	3.000			10.800			
	3	2	2.250	3.000			13.500			
		2	1.800	3.000			10.800			
		2	5.700	3.000			34.200			
		2	1.800	3.000			10.800			
		2	1.700	3.000			10.200			
		2	4.000	3.000			24.000			
		2	1.700	3.000	1		10.200			
		2	2.850	3.000	7 13		17.100			
		2	1.700	3.000	1-2		10.200			
		2	2.000	3.000	1 10	L	12.000			
	exterior	1	25.000	3.000			75.000			
		2	10.000	3.500			70.000			
		al Quantity	705.103 s	qm						
	Other Engineering Organisa Total Quantity  Total Deducted Quantity							1		
		$\mathbf{P}$	K		Net Tota	al Quantity	705.103 s			
	Say 705.103 sqm @ Rs 33.31 / sqm Rs 23486.98									
3	11.41.2 Providing and laying with water absorption shades, laid on 20 m with white cement ar	less than 0.0 Im thick ceme	08% and con ent mortar 1:	forming to I 4(1 cement	S : 15622, c t : 4 coarse	of approved sand), inclu	make, in all olding grouting	colours ar		
	QTY SAME AS ITE	M 1				202.29	202.290			
					Tota	al Quantity	202.290 s	qm		
				To	otal Deducte	d Quantity	0.000 sqm	1		
					Net Tota	al Quantity	202.290 s	qm		
			Say 2	02.290 sqm	n @ Rs 1664	1.66 / sqm	Rs 336	6744.07		
4	11.36 Providing and fixing specified by the man		•			•	,			

	thick bed of cement mo per sqm, including poin	ortar 1:3 (1	cement : 3 c	coarse sand	and jointing	g with grey		y @ 3.3		
	Toilets	2	1.950	2.100			8.190			
		2	1.950	2.100			8.190			
		2	1.950	2.100			8.190			
		2	1.750	2.100			7.351			
					al Quantity	31.921 sq	m			
				To	tal Deducte	d Quantity	0.000 sqm	1		
					Net Tota	al Quantity	31.921 sq	m		
			Say	31.921 sqm	@ Rs 1107	7.59 / sqm	Rs 35	355.38		
5	13.1.1 12 mm cement plaster of QTY SAME AS ITEM	1.0	1 cement : 4	1 fine sand)		705.4	705 400			
	2		150	73/A	1-21	705.1	705.103			
		155			Tota	al Quantity	705.103 s	qm		
	Total Deducted Quantity 0.000 sqm									
			no literatura	in ot 12/	Net Tota	al Quantity	705.103 s	qm		
	Other Engine Say 705.103 sqm @ Rs 257.19 / sqm Rs 181345.44									
6	13.48.1	7								
	Finishing with Deluxe manufacturers specifications coat of special principles.	ations:Two	or more coa	ats applied		1	0.			
	Finishing with Deluxe manufacturers specification	ations:Two	or more coa	ats applied		1	0.			
	Finishing with Deluxe manufacturers specifications one coat of special prince QTY SAME AS ITEM	ations:Two ner applied	or more coa	ats applied	on walls @	1.25 ltr/10	sqm over an	d includ		
	Finishing with Deluxe manufacturers specifications one coat of special prince QTY SAME AS ITEM	ations:Two ner applied	or more coa	ats applied /10 sqm	on walls @	705.1 Al Quantity	705.103	d includ		
	Finishing with Deluxe manufacturers specifications one coat of special prince QTY SAME AS ITEM	ations:Two ner applied	or more coa	ats applied /10 sqm	Total Deducte	705.1 Al Quantity	705.103 705.103 s	d includ		
	Finishing with Deluxe manufacturers specifications one coat of special prince QTY SAME AS ITEM	ations:Two ner applied	or more coad @ 0.75 ltr	ats applied //10 sqm	Total Deducte	705.1  Al Quantity  d Quantity  al Quantity	705.103 705.103 s 0.000 sqm 705.103 s	d includ		
7	Finishing with Deluxe manufacturers specifications one coat of special prince QTY SAME AS ITEM	ations:Two mer applied	or more coal @ 0.75 ltr	ats applied /10 sqm  To	Tota  tal Deducte  Net Tota  m @ Rs 147	705.1  Al Quantity d Quantity al Quantity '.15 / sqm	705.103 705.103 s 0.000 sqm 705.103 s Rs 103	qm qm qm 3755.91		
	Finishing with Deluxe manufacturers specification one coat of special print QTY SAME AS ITEM NO. 2	ations:Two mer applied	or more coal @ 0.75 ltr	ats applied /10 sqm  To	Tota  tal Deducte  Net Tota  m @ Rs 147	705.1  Al Quantity d Quantity al Quantity '.15 / sqm	705.103 705.103 s 0.000 sqm 705.103 s Rs 103	qm qm qm 3755.91		
	Finishing with Deluxe manufacturers specification one coat of special print QTY SAME AS ITEM NO. 2	ations:Two mer applied 1	or more coad @ 0.75 ltr	To 705.103 squ	Total Deducted Net Total Met Total M	705.1  Al Quantity d Quantity al Quantity '.15 / sqm	705.103 705.103 s 0.000 sqm 705.103 s Rs 103	qm qm 3755.91		
	Finishing with Deluxe manufacturers specification one coat of special print QTY SAME AS ITEM NO. 2	ations:Two mer applied 1	or more coad @ 0.75 ltr	To 705.103 squares work 0.400	Total Deducted Net Total Met Total M	705.1  705.1  al Quantity al Quantity 7.15 / sqm r required t	705.103 705.103 s 0.000 sqm 705.103 s Rs 103	qm qm 3755.91		

			S	ay 6.480 sq	m @ Rs 344	.26 / sqm	Rs 22	230.80	
8	14.6.1 Renewing glass panes,	, with woode	en fillets whe	erever neces	ssary:Float g	lass panes	of thickness	4 mm	
	Window panes	60	0.500	0.300			9.000		
					Tota	al Quantity	9.000 sqn	า	
				To	otal Deducte	d Quantity	0.000 sqn	า	
					Net Tota	al Quantity	9.000 sqn	n	
			Sa	y 9.000 sqm	@ Rs 1267	7.90 / sqm	Rs 11	411.10	
9	14.29 Providing and fixing M windows and clerestor		r squre bars	s with M.S.	flats at requ	uired spacin	ig in woode	n frames o	
		20	1.500	191		0.89	26.700		
					Tota	al Quantity	26.700 kg		
		610	Y H	To	otal Deducte	d Quantity	0.000 kg		
		15			Net Tota	al Quantity	26.700 kg		
		101		Say 26.70	00 kg @ Rs	91.90 / kg	Rs 24	453.73	
	Dismantling roofing including ridges, hips, velleys and gutters etc., and stacking the material within 5 metres lead of :Asbestos Sheet  1 15.500 20.000 310.000 310.000 sqm  Total Deducted Quantity 0.000 sqm								
	metres lead of :Asbest	tos Sheet	( )	20.000	otal Deducte	d Quantity	310.000 s	qm n	
	metres lead of :Asbest	tos Sheet	15.500	20.000 To	otal Deducte Net Tota	d Quantity	310.000 s 0.000 sqn 310.000 s	qm n qm	
11	15.14.2 Dismantling wood work including stacking the response	c in frames,	Say	20.000 To	Net Total Met Total mage of the desired th	d Quantity al Quantity 3.85 / sqm O metres sp	310.000 sqn 310.000 s Rs 15 an and 5 me square cent	qm qm 143.50 etres heigh	
11	15.14.2 Dismantling wood work	c in frames,	Say	20.000 To	Net Total Met Total qm @ Rs 48 ters up to 10 ectional area	d Quantity al Quantity 3.85 / sqm O metres sp	310.000 sqn 310.000 sqn 310.000 s Rs 15	qm qm 143.50 etres heighimeters 32.13= total wook work needed a	
11	15.14.2 Dismantling wood work including stacking the response	c in frames,	Say	y 310.000 so	Net Total Met Total qm @ Rs 48 ters up to 10 ectional area	d Quantity al Quantity 5.85 / sqm 0 metres sp a below 40 al Quantity	310.000 s 0.000 sqn 310.000 s Rs 15 an and 5 me square cent	qm 143.50 etres heighimeters 32.13= total wook work needed a	
11	15.14.2 Dismantling wood work including stacking the response	c in frames,	Say	y 310.000 so	Net Total  Ret Total  Ret Total  Ret 48  Reters up to 10  Rectional area  Total	d Quantity al Quantity 5.85 / sqm 0 metres sp a below 40 al Quantity	310.000 s 0.000 sqn 310.000 s Rs 15 an and 5 me square cent 32.131	qm qm qm 143.50 etres heighimeters 32.13= total wook work needed a	
11	15.14.2 Dismantling wood work including stacking the response	c in frames,	Say trusses, pur nin 50 metre 32.130	20.000 To	Net Total  Ret Total  Ret Total  Ret 48  Reters up to 10  Rectional area  Total	d Quantity al Quantity 3.85 / sqm D metres sp a below 40 al Quantity d Quantity al Quantity	310.000 sqn 310.000 sqn 310.000 s Rs 15 an and 5 me square cent 32.131 me 0.000 met	qm qm qm 143.50 etres heighimeters 32.13= total wook work needed a	

	including all material labor of	charge	es etc. as pe	er direction	of engineer	at site	T	T
		1	15.500	20.000			310.000	
					Tota	al Quantity	310.000 p	er sqm
				Тс	tal Deducte	d Quantity	0.000 per	sqm
					Net Tota	al Quantity	310.000 p	er sqm
		5	Say 310.000	per sqm @	Rs 2205.69	/ per sqm	Rs 683	3763.90
13	50.9.13.1 Supplying and fixing Anjily w materials etc. complete.	ood v	wrought and	put up for ro	oof members	s including o	cost and cor	nveyance
	50 % demolished portion	10	0.062		B	0.5	9.610	360= to roofin area, .0 = volur of woo per me square roof ar
	additional rafters	r Ei	o.0036	ng Orga	anisatio	ns Z	1.116	360= to roofin area 0.0032 volume wood p mete square roof ar
					Tota	al Quantity	10.726 cum	
				To	tal Deducte	d Quantity	0.000 cum	า
					Net Tota	al Quantity	10.726 cu	m
			Say 1	0.726 cum	@ Rs 87404	.69 / cum	Rs 937	7502.70
14	50.12.5.1  Providing and fixing false of ceiling of approved quality frame work shall be paid se	in alu	minium fram		•			
		1	20.000	10.000			200.000	
		al Quantity	200.000 s	qm				
	Total Deducted Quantity							1
							1	

			Say	200.000 sqn	n @ Rs 673	3.50 / sqm	Rs 134	1700.00
15	10.16.1 Steel work in built up cutting, hoisting, fixing and bolted with specia	position an	d applying	a priming co	at of appro	ved steel pr	rimer, includ	
	Frame for false ceiling	1	200.000			3.0	600.000	3kg/m2 o
					Tota	al Quantity	600.000 k	g
				То	tal Deducte	ed Quantity	0.000 kg	
					Net Tota	al Quantity	600.000 k	g
		34.21 / kg	Rs 80	526.00				
16	od170779/2019_2020 Providing and fixing CH	IR O. Head	shower of s	uperior quali	ty Jaguar o	r equivalent	brand.	
		4	43 0	\$ W	1		4.000	
		11	The state of the s	37/1	Tota	al Quantity	4.000 eac	h
		NA	DE	То	tal Deducte	ed Quantity	0.000 eac	h
		4.000 each						
			Say	4.000 each	@ Rs 1301	.72 / each	Rs 5206.88	
17	od170780/2019_2020 Providing and fixing 47	ther En	gineeri wer arm Lig	no Oroz Int of approv	ed quality J	aguar or eq	uivalent brar	nd:
		4				7	4.000	
					Tota	al Quantity	4.000 eac	h
				То	tal Deducte	ed Quantity	0.000 eac	h
					Net Tota	al Quantity	4.000 eac	h
			Sa	y 4.000 each	@ Rs 604	.83 / each	Rs 24	119.32
18	od170781/2019_2020 Providing and fixing (UI	N0002) Univ	versal Angle	Cock of sup	erior quality	y Jaguar or	equivalent	
		4					4.000	
					Tota	al Quantity	4.000 eac	h
				То	tal Deducte	ed Quantity	0.000 eac	h
					Net Tota	al Quantity	4.000 eac	h
			Sa	y 4.000 each	n @ Rs 548	.38 / each	Rs 2	193.52
				-			.1	
19	od170782/2019_2020 Providing and fixing (5	70 CHD\ HE	-	CET of Supe	rior quality	laguar or o	quivalent br	and

	Total Quantity	4.000 each	
	Total Deducted Quantity	0.000 each	
	Net Total Quantity	4.000 each	
	Say 4.000 each @ Rs 1821.52 / each	Rs 7286.08	
20	od170783/2019_2020 Providing and fixing Corner glass shelf with edges round off supported on ano frame with C.P. brass brackets and guard rail complete fixed with 40 mm long scomplete. JAQUAR ACN-1181S or Equivalent 	_	
	4	4.000	
	Total Quantity	4.000 each	
	Total Deducted Quantity	0.000 each	
	Net Total Quantity	4.000 each	
	Say 4.000 each @ Rs 1249.99 / each	Rs 4999.96	
21	od170784/2019_2020 Providing and fixing (089 ALD c) stop cock of superior quality 15 mm nominal bobrand brand 	re Jaguar or equivale	
	8	8.000	
	Total Quantity	8.000 each	
	Total Deducted Quantity	0.000 each	
	Other Engineering Organisations Net Total Quantity	8.000 each	
	Say 8.000 each @ Rs 1011.35 / each	Rs 8090.80	
22	od170785/2019_2020  Providing and fixing superior quality brand CP Soap Dish Holder concealed weighing not less than 106 gms br>	d fitting arrangemen	
	8	8.000	
	Total Quantity	8.000 each	
	Total Deducted Quantity	0.000 each	
	Net Total Quantity	8.000 each	
	Say 8.000 each @ Rs 775.00 / each	Rs 6200.00	
23	od170786/2019_2020 Providing and fixing C.P. brass bib cock of superior quality Jaguar or equivale IS:8931. 15 mm nominal bore br>	nt brand conforming	
	8	8.000	
	Total Quantity	8.000 each	
	Total Deducted Quantity	0.000 each	
	Net Total Quantity	8.000 each	

			Say	8.000 each	@ Rs 1543.	37 / each	Rs 12	346.96
24	od170787/2019_2020 Providing and fixing Equivalent	Towel Rac	k SS 24" s	uperior qua	ality brande	d item JA(	QUAR ACN	I-1181S o
		4					4.000	
					Tota	I Quantity	4.000 eac	h
				То	tal Deducted	d Quantity	0.000 eac	h
					Net Tota	I Quantity	4.000 eac	h
			Say	4.000 each	@ Rs 2900.0	00 / each	Rs 11	600.00
	Providing and fixing C screws with concealed Equivalent <br< th=""><th></th><th></th><th></th><th></th><th></th><th></th><th></th></br<>							
		16		30/2	Tota	l Quantity	8.000 eac	h
		15	LAS	То	tal Deducted	d Quantity	0.000 eac	h
		I Quantity	8.000 each					
			Say	8.000 each	@ Rs 1375.0	00 / each	Rs 11	00.00
26	od170789/2019_2020 Providing and fixing ( 35753PS <br< td=""><td>Other En</td><td>gineeri oilet paper</td><td>ng Orga</td><td>anisation uperior qual</td><td>ns ity branded</td><td>d item. JAQ 4.000</td><td>UAR AKP</td></br<>	Other En	gineeri oilet paper	ng Orga	anisation uperior qual	ns ity branded	d item. JAQ 4.000	UAR AKP
					Tota	- I Quantity	4.000 eac	h
				То	tal Deducted	d Quantity	0.000 eac	h
					Net Tota	l Quantity	4.000 eac	h
			Say	4.000 each	@ Rs 1675.0	00 / each	Rs 67	700.00
27	od170790/2019_2020 Providing and fixing summ C. P. brass pillar tfittings and brackets, c WHT-39803 or Equiva	aps with C.I. utting and m	brackets, 3 aking good	32 mm waste	pipe of star	ndard patte	rn, including	painting o
		8					8.000	
					Tota	I Quantity	8.000 eac	h
				То	tal Deducted	d Quantity	0.000 eac	h
				То		I Quantity I Quantity	0.000 eac 8.000 eac	

28	od170791/2019_2020 Providing and fixing su seat and lid, 10 litre le C.I.brackets, 40 mm fl proof coupling of approand making good the seat and lid JAQUAR complete, including pa wherever required: W.	ow level who will be be be with the bend, oved municing and flater than the beautiful between the beautiful beautifu	hite vitreous overflow arr pal design coors wherevers 8851S30 tings and branchings are proposed as the property of the	s china flush cangement vomplete, incover required OUFSM or ackets, cutti	ning cistern with special cluding pain : W.C. pan Equivalent ing and mak	& C.P. flusts of standating of fitting with ISI maching br>go	sh bend with rd make and brack and brack white sweet munic	h fittings & d mosquito kets, cutting solid plastic ipal design
		4					4.000	
					Tota	al Quantity	4.000 eac	h
				Тс	tal Deducte	d Quantity	0.000 eac	h
			/f60	//0/2	Net Tota	al Quantity	4.000 eac	h
			Say 4	.000 each @	Rs 24590.	00 / each	Rs 98	360.00
	Providing and fixing on A, including jointing wit Single socketed pipes.	th seal ring	conforming	V & 12 / WY	70 J	Ī.	•	• •
	3	60	F9726				60.000	
			no British	in other	Tota	al Quantity	60.000 m	etre
	0	ther Er	ngineeri	ng Or <b>g</b> q	tal Deducte	d Quantity	0.000 me	re
					Net Tota	al Quantity	60.000 m	etre
			Say 6	0.000 metre	@ Rs 351.4	18 / metre	Rs 21	08.880
30	12.42.4.2 Providing and fixing on PVC rain water pipes of 5382, leaving 10 mm g	onforming	to IS : 13592	2 Type A, ind	cluding jointi	ng with sea	I ring confo	_
					Tota	al Quantity	18.000 ea	ch
				To			0.000 eac	
	Total Deducted Quantity  Net Total Quantity							••
			Net Tota	al Quantity	l 18.000 ea	ch		
			Sav	18.000 each			18.000 ea	
31	12.42.5.2 Providing and fixing on PVC rain water pipes of 5382, leaving 10 mm g	onforming	inplasticised	2 Type A, ind	n @ Rs 249.  ded fittings/ cluding jointi	24 / each accessories	Rs 4	486.32
31	Providing and fixing on PVC rain water pipes of	onforming	inplasticised	- PVC mould 2 Type A, ind	n @ Rs 249.  ded fittings/ cluding jointi	24 / each accessories	Rs 4	486.32

	Total Deducted Quantity	0.000 each
	Net Total Quantity	25.000 each
	Say 25.000 each @ Rs 168.19 / each	Rs 4204.75
32	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal water supply, including all CPVC plain & brass threaded fittings i/c fixing the pipe spacing. This includes jointing of pipes& fittings, with one step CPVC solvent cutting chases and making good the same including testing of joints complete Engineer-in-Charge. Concealed work, including cutting chases and making go nominal outer dia pipes	with clamps at 1.00 m cement and the cost of ete as per direction of
	30	30.000
	Total Quantity	30.000 metre
	Total Deducted Quantity	0.000 metre
	Net Total Quantity	30.000 metre
	Say 30.000 metre @ Rs 423.60 / metre	Rs 12708.00
	spacing. This includes jointing of pipes& fittings, with one step CPVC solvent of cutting chases and making good the same including testing of joints complete Engineer-in-Charge. Concealed work, including cutting chases and making go nominal outer dia pipes  28	ete as per direction of
	Total Quantity	28.000 metre
	Total Deducted Quantity	0.000 metre
	Net Total Quantity	28.000 metre
	Say 28.000 metre @ Rs 614.02 / metre	Rs 17192.56
34	18.9.5 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having therma water supply including all CPVC plain & brass threaded fittings. This includes joi with one step CPVC solvent cement, trenching, refilling & testing of joints comp Engineer- in-Charge. External work40 mm nominal outer dia pipes	nting of pipes & fittings
	16	16.000
	Total Quantity	16.000 metre
	Total Deducted Quantity	0.000 metre
	Net Total Quantity	16.000 metre
	Say 16.000 metre @ Rs 477.58 / metre	Rs 7641.28

	Providing and fixing Is etc. complete:250x10	) mm						
		54					54.000	
				·	Tota	al Quantity	54.000 no	
				T	otal Deducte	d Quantity	0.000 no	
					Net Tota	al Quantity	54.000 no	
				Say 54.00	00 no @ Rs :	95.17 / no	Rs 51	39.18
36	9.76 Providing and fixing by handles of approved	_				ock with 6 le	vers and a p	oair of le
		17	1	2 6			17.000	
		·	1	MANA C	Tota	al Quantity	17.000 no	
		-	6.2	WW SI	otal Deducte	d Quantity	0.000 no	
		6	W.	75. 7	Net Tota	al Quantity	17.000 no	
			11	Say 17 000	) no @ Rs 8:	27 FO / 20	Bo 14	067.50
37	9.78 Providing and fixing h	oright finishe	d brass ni			Ţ		
37	9.78 Providing and fixing becomplete.	oright finishe		ght latch of ap	pproved qual	ity including		
37	Providing and fixing b		d brass ni	ght latch of ap	pproved qual	ity including	necessary	
37	Providing and fixing b			ight latch of appring Org	pproved qual	ity including	necessary	
37	Providing and fixing b			ight latch of appring Org	anisatio Tota	ity including	4.000 4.000 no	
37	Providing and fixing b			ight latch of appring Org	anisatio Tota	ity including  Sal Quantity d Quantity al Quantity	4.000 4.000 no 0.000 no 4.000 no	
38	Providing and fixing b	trap of self cl	eansing of	Say 4.000  design with screaking good the	oproved qual Total Otal Deducte Net Total no @ Rs 11	ity including al Quantity al Quantity al Quantity 31.58 / no or hinged g	4.000 4.000 no 0.000 no 4.000 no Rs 47	zcrews of the second se
	Providing and fixing be complete.  17.60.2.1 Providing and fixing to complete, including	trap of self cl	eansing of	Say 4.000  design with screaking good the	oproved qual Total Otal Deducte Net Total no @ Rs 11	ity including al Quantity al Quantity al Quantity 31.58 / no or hinged g	4.000 4.000 no 0.000 no 4.000 no Rs 47	screws of
	Providing and fixing be complete.  17.60.2.1 Providing and fixing to complete, including	trap of self cl cost of cutti S & S as p	eansing of	Say 4.000  design with screaking good the	oproved qual anisation Total otal Deducte Net Total no @ Rs 115 rewed down he walls and	ity including al Quantity al Quantity al Quantity 31.58 / no or hinged g	4.000 4.000 no 0.000 no 4.000 no Rs 47 rating witho	726.32 ut vent a
	Providing and fixing be complete.  17.60.2.1 Providing and fixing to complete, including	trap of self cl cost of cutti S & S as p	eansing of	Say 4.000  design with screaking good to 1989	oproved qual anisation Total otal Deducte Net Total no @ Rs 115 rewed down he walls and	ity including al Quantity d Quantity al Quantity 31.58 / no or hinged g d floors:100 al Quantity	4.000 4.000 no 0.000 no 4.000 no Rs 47 rating witho mm inlet a	rews of the second seco
	Providing and fixing be complete.  17.60.2.1 Providing and fixing to complete, including	trap of self cl cost of cutti S & S as p	eansing of	Say 4.000  design with screaking good to 1989	no @ Rs 113 Tewed down he walls and	ity including al Quantity d Quantity al Quantity 31.58 / no or hinged g d floors:100 al Quantity	4.000 and 4.000 no 4.000 no Rs 47 rating without mm inlet at 4.000 4.000 each	rz6.32  ut vent a and 75 m
	Providing and fixing be complete.  17.60.2.1 Providing and fixing to complete, including	trap of self cl cost of cutti S & S as p	eansing on and meer IS - 39	Say 4.000  design with screaking good to 1989	no @ Rs 11a  Tota  Net Tota  no @ Rs 11a  rewed down he walls and  Tota  otal Deducte  Net Tota	ity including al Quantity al Quantity al Quantity al Quantity al Guantity al Quantity	4.000 no 4.000 no 4.000 no 4.000 no Rs 47  rating witho mm inlet a  4.000 4.000 eac 0.000 eac 4.000 eac	rz6.32  ut vent a and 75 m

1	2.1.1 Earth work in surface sqm on plan including levelled and neatly di	g disposal of	excavated	-	•	ū						
	FOUNDATION	4	1.100	1.100	0.750		3.631					
					Tota	al Quantity	3.631 sqn	n				
		Total Deducted Quantity 0.000 sqm										
	Net Total Quantity 3.631 sqm											
			S	Say 3.631 s	qm @ Rs 78	3.82 / sqm	Rs 2	286.20				
	Providing and laying is shuttering - All work nominal size)  BASE CONCRETE	•			•	•		_				
	BAGE CONCINETE	1	1.100	1.100	7 1 3	L Quantity	0.485 cun	<u> </u>				
				To	otal Deducte	1	0.000 cun					
		1/51			5 21)	al Quantity	0.485 cun					
		4				·						
3	5.1.2	int boots II to	Nº Bai	4 310	@ Rs 6659		I	229.84				
3	5.1.2 Providing and laying centering, shuttering, sand :3 graded stone  BASE	finishing and	pecified gra reinforceme mm nomina 0.900	ade of reinfo ent - All work	orced ceme	nt concrete	e, excluding	the cost t 1.5 coar				
3	Providing and laying centering, shuttering, sand :3 graded stone	finishing and aggregate 20	pecified gra reinforceme mm nomina	ade of reinfo ent - All work al size	orced cerne up to plint	nt concrete	e, excluding :3 (1 cemen	the cost t 1.5 coar 0.45=(0				
3	Providing and laying centering, shuttering, sand :3 graded stone  BASE	finishing and aggregate 20 4	pecified gra reinforceme mm nomina 0.900 .5*(.9*.9+.	ade of reinfo ent - All work al size	orced ceme cup to plinth 0.150 0.300	nt concrete	e, excluding :3 (1 cemen 0.486	the cost t 1.5 coars 0.45=(0. +0.3)/2				
3	Providing and laying centering, shuttering, sand :3 graded stone  BASE	finishing and aggregate 20 4	pecified gra reinforceme mm nomina 0.900 .5*(.9*.9+.	ade of reinfo ent - All work al size 0.900	orced ceme cup to plinth 0.150 0.300	nt concrete h level:1:1:5	e, excluding :3 (1 cemen 0.486 0.540	the cost t 1.5 coars 0.45=(0. +0.3)/2				
3	Providing and laying centering, shuttering, sand :3 graded stone  BASE	finishing and aggregate 20 4	pecified gra reinforceme mm nomina 0.900 .5*(.9*.9+.	ade of reinfo ent - All work al size 0.900	0.150  0.300  Total Deducte	nt concrete h level:1:1:5	0.486 0.540	the cost t 1.5 coars 0.45=(0. +0.3)/2				
3	Providing and laying centering, shuttering, sand :3 graded stone  BASE	finishing and aggregate 20 4	pecified grareinforcement of mm nomination of the control of the c	ade of reinfo ent - All work al size 0.900	0.150  O.300  Total Deducted Net Total	al Quantity al Quantity al Quantity	0.486 0.540 1.026 cun 1.026 cun	the cost t 1.5 coar 0.45=(0 +0.3)/2				
4	Providing and laying centering, shuttering, sand :3 graded stone  BASE	finishing and aggregate 20 4 4 4 oncrete work llets, columnatering, shutter	pecified grareinforcement on mm nomination of the control of the c	ont - All work al size  0.900  To y 1.026 cum y thickness) ers, abutme g and reinfo	0.150  0.300  Total Deducte Net Total @ Rs 9242	al Quantity al Quantity al Quantity at Quantity at Quantity at Quantity at Quantity at Quantity	0.486 0.540 1.026 cun 1.026 cun Rs 96	the cost t 1.5 coar 0.45=(0 +0.3)/2 n n 483.16 esses, plir or five lev				
	Providing and laying centering, shuttering, sand :3 graded stone  BASE  FOUNDATION  5.2.2  Reinforced cement co and string courses, fill excluding cost of cent	finishing and aggregate 20 4 4 4 oncrete work llets, columnatering, shutter	pecified grareinforcement on mm nomination of the control of the c	ont - All work al size  0.900  To y 1.026 cum y thickness) ers, abutme g and reinfo	0.150  0.300  Total Deducte Net Total @ Rs 9242	al Quantity al Quantity al Quantity at Quantity at Quantity at Quantity at Quantity at Quantity	0.486 0.540 1.026 cun 1.026 cun Rs 96	the cost t 1.5 coar 0.45=(0 +0.3)/2 n n 483.16 esses, plir or five lev				
	Providing and laying centering, shuttering, sand :3 graded stone  BASE  FOUNDATION  5.2.2  Reinforced cement co and string courses, fill excluding cost of cent 3 graded stone aggre	aggregate 20 4 4 4 oncrete work llets, columniering, shutte	pecified grareinforcement on mm nominal size	ont - All work al size  0.900  To y 1.026 cum y thickness) ers, abutme g and reinfo	0.150  0.300  Total Deducte  Net Total  @ Rs 9242  , including a nts, posts a prcement :1:	al Quantity al Quantity al Quantity at Quantity at Quantity at Quantity at Quantity at Quantity	e, excluding 3 (1 cemen  0.486  0.540  1.026 cun  1.026 cun  Rs 96  sters, buttre c. up tot flo	the cost t 1.5 coar 0.45=(0 +0.3)/2 n n 483.16 esses, plir or five lev				

	WALLS	1	12.800	3.000	0.200		7.681	12.8=3 4
		,	1		Tota	al Quantity	13.809 cu	ım
				To	otal Deducte	d Quantity	0.000 cur	n
					Net Tota	al Quantity	13.809 сเ	ım
			Say 1	3.809 cum	@ Rs 10626	6.52 / cum	Rs 14	6741.61
5	5.9.1 Centering and shu columns, etc for m		g strutting, et	c. and remo	oval of form	for:Foundat	ions, footing	gs, base
		4*4	0.900	0.150			2.160	
			0	6	Tota	al Quantity	2.160 sqr	n
			1900	To	otal Deducte	d Quantity	0.000 sqr	n
		1	E. 2 1		Net Tota	al Quantity	2.160 sqr	n
		610	S	ay 2.160 sq	m @ Rs 288	3.42 / sqm	Rs 6	522.99
		24	2.900	0.300	10%		20.880	
		Other Er	2.900 3.400 3.400	3.400 0.100	,	a Quantity	11.560 1.360 33.800 so	
		Other Er	3.400 1g1neeri	3.400 0.100	otal Deducte	d Quantity	11.560 1.360 33.800 sc 0.000 sqr	n
		Other Er	3.400 3.400	3.400 0.100	otal Deducte Net Tota	d Quantity	11.560 1.360 33.800 sc 0.000 sqr 33.800 sc	n Im
7	5.9.6 Centering and sh Abutments, Posts COLOUMN	Other Er	3.400 3.400 Sa	3.400 0.100 To	otal Deducte Net Tota m @ Rs 509	d Quantity al Quantity 9.93 / sqm	11.560 1.360 33.800 sc 0.000 sqr 33.800 sc Rs 17	m µm 7235.63
7	Centering and sh Abutments, Posts	other Er	3.400 3.400 Saging strutting	3.400 0.100 To y 33.800 sq	otal Deducte Net Tota m @ Rs 509	d Quantity al Quantity 9.93 / sqm	11.560 1.360 33.800 sc 0.000 sqr 33.800 sc Rs 17	m nm 7235.63
7	Centering and sh Abutments, Posts COLOUMN	outtering includes and Struts	3.400 3.400 Saging strutting 4.800	3.400 0.100 To y 33.800 sq g, etc. and	otal Deducte Net Tota m @ Rs 509	d Quantity al Quantity 9.93 / sqm	11.560 1.360 33.800 sc 0.000 sqr 33.800 sc Rs 17	m nm 7235.63
7	Centering and sh Abutments, Posts COLOUMN	other Er	3.400 3.400 Saging strutting 4.800 3.400	3.400 0.100 To y 33.800 sq g, etc. and 1.200 3.000	Net Total Met Total m @ Rs 509 removal of	d Quantity al Quantity 0.93 / sqm form for:C	11.560 1.360 33.800 sc 0.000 sqr 33.800 sc Rs 17  olumns, Pi 23.040 40.800 72.000	n /235.63 Illars, Pi
7	Centering and sh Abutments, Posts COLOUMN	other Er	3.400 3.400 Saging strutting 4.800 3.400	3.400 0.100 7 33.800 squ g, etc. and 1.200 3.000 3.000	Net Total Met Total m @ Rs 509 removal of	d Quantity al Quantity 0.93 / sqm form for:C	11.560 1.360 33.800 sc 0.000 sqr 33.800 sc Rs 17 olumns, Pi 23.040 40.800	n /235.63 Illars, Pi
7	Centering and sh Abutments, Posts COLOUMN	other Er	3.400 3.400 Saging strutting 4.800 3.400	3.400 0.100 7 33.800 squ g, etc. and 1.200 3.000 3.000	Net Total Met Total m @ Rs 509 removal of  Total	d Quantity al Quantity 0.93 / sqm form for:C	11.560 1.360 33.800 sc 0.000 sqr 33.800 sc Rs 17  olumns, Pi 23.040 40.800 72.000 135.840 s	n /235.63 Illars, Pi
7	Centering and sh Abutments, Posts COLOUMN	other Er	3.400 3.400 Sating strutting 4.800 3.400 3.000	3.400 0.100 70.100 3.800 square, etc. and 1.200 3.000 3.000	Net Total Met Total m @ Rs 509 removal of  Total	d Quantity al Quantity 0.93 / sqm form for:C	11.560 1.360 33.800 sc 0.000 sqr 33.800 sc Rs 17  olumns, Pi 23.040 40.800 72.000 135.840 s 0.000 sqr 135.840 s	n /235.63 Illars, Pi

FOUNDATION 1 1.026 100.0 102.601 C		Steel reinforcement fo binding all complete u		ū	ū	0.			
Total Quantity   1759.681 kilo   Total Quantity   Total	F	FOUNDATION	1	1.026			100.0	102.601	100KG
Total Deducted Quantity	S	SUPERSTRUCTURE	1	13.809			120.0	1657.080	120KG
Net Total Quantity						Tota	al Quantity	1759.681	kilogran
Say 1759.681 kilogram @ Rs 84.17 / kilogram   Rs 14811:   9					To	otal Deducte	d Quantity	0.000 kilo	gram
9 13.16.1 6 mm cement plaster of mix:1:3 (1 cement : 3 fine sand)  COLOUMS						Net Tota	al Quantity	1759.681	kilogran
6 mm cement plaster of mix:1:3 (1 cement : 3 fine sand)  COLOUMS			S	Say 1759.681	kilogram (	@ Rs 84.17	/ kilogram	Rs 148	8112.35
WALLS 4 3.400 3.000 40.800  BEAMS 32 2.900 0.300 27.840  SLAB 1 3.400 3.000 9.000  Total Quantity 149.600 sqm  Total Deducted Quantity 0.000 sqm  Net Total Quantity 149.600 sqm  Rs 31990  10 13.48.1  Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer manufacturers specifications:Two or more coats applied on walls @ 1.25 ltr/10 sqm over and ir one coat of special primer applied @ 0.75 ltr /10 sqm  COLOUMS 4 4.800 1.200 23.040  WALLS 4 3.400 3.000 3.000 36.000  BEAMS 32 2.900 0.300 27.840  SLAB 1 3.400 3.400 11.560  SLAB 1 3.400 3.400 11.560			mix:1:3 ( 1	cement : 3 f	ine sand)				
A   3.000   3.000   36.000	(	COLOUMS	4	4.800	1.200			23.040	
BEAMS   32   2.900   0.300   27.840	١	WALLS	4	3.400	3.000	1 13		40.800	
SLAB			4	3.000	3.000	1-21		36.000	
1 3.000 3.000 9.000  Othe 4 Eng 3.400 in 0.100 g misations 1.360  Total Quantity 149.600 sqm  Total Deducted Quantity 149.600 sqm  Net Total Quantity 149.600 sqm  Res 31990  13.48.1  Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer manufacturers specifications: Two or more coats applied on walls @ 1.25 ltr/10 sqm over and ir one coat of special primer applied @ 0.75 ltr /10 sqm  COLOUMS 4 4.800 1.200 23.040  WALLS 4 3.400 3.000 40.800  BEAMS 32 2.900 0.300 36.000  BEAMS 32 1.400 3.400 11.560  SLAB 1 3.400 3.400 11.560  9.000	E	BEAMS	32	2.900	0.300	3 20	L	27.840	
Total Quantity   149.600 sqm   Total Quantity   149.600 sqm   Net Total Quantity   149.600 sqm   Res 31990	5	SLAB	1	3.400	3.400			11.560	
Total Quantity 149.600 sqm  Total Deducted Quantity 0.000 sqm  Net Total Quantity 149.600 sqm  Say 149.600 sqm @ Rs 213.84 / sqm Rs 31990  10 13.48.1 Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer manufacturers specifications:Two or more coats applied on walls @ 1.25 ltr/10 sqm over and ir one coat of special primer applied @ 0.75 ltr /10 sqm  COLOUMS 4 4.800 1.200 23.040  WALLS 4 3.400 3.000 40.800  BEAMS 32 2.900 0.300 27.840  SLAB 1 3.400 3.400 11.560  1 3.000 3.000 9.000			1	3.000	3.000			9.000	
Net Total Deducted Quantity   149.600 sqm   Net Total Quantity   149.600 sqm   Say 149.600 sqm @ Rs 213.84 / sqm   Rs 31990		0	the <del>f</del> En	g 3:400 ri	g0.100 g	anisatio	ns	1.360	
Net Total Quantity   149.600 sqm   Say 149.600 sqm   Rs 213.84 / sqm   Rs 31990						Tota	al Quantity	149.600 s	qm
Say 149.600 sqm @ Rs 213.84 / sqm					To	otal Deducte	d Quantity	0.000 sqn	า
10						Net Tota	al Quantity	149.600 s	qm
Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer manufacturers specifications:Two or more coats applied on walls @ 1.25 ltr/10 sqm over and in one coat of special primer applied @ 0.75 ltr /10 sqm  COLOUMS				Say <sup>2</sup>	149.600 sqı	m @ Rs 213	3.84 / sqm	Rs 31	990.46
WALLS       4       3.400       3.000       40.800         4       3.000       3.000       36.000         BEAMS       32       2.900       0.300       27.840         SLAB       1       3.400       3.400       11.560         1       3.000       3.000       9.000	F	Finishing with Deluxe	ations:Two	or more coa	ts applied			• .	
4     3.000     36.000       BEAMS     32     2.900     0.300     27.840       SLAB     1     3.400     3.400     11.560       1     3.000     3.000     9.000	C	COLOUMS	4	4.800	1.200			23.040	
BEAMS     32     2.900     0.300     27.840       SLAB     1     3.400     3.400     11.560       1     3.000     3.000     9.000	١	WALLS	4	3.400	3.000			40.800	
SLAB     1     3.400     3.400     11.560       1     3.000     3.000     9.000			4	3.000	3.000			36.000	
1 3.000 3.000 9.000	E	BEAMS	32	2.900	0.300			27.840	
	5	SLAB	1	3.400	3.400			11.560	
4 3.400 0.100 1.360			1	3.000	3.000			9.000	
			4	3.400	0.100			1.360	

					otal Deducted	Quantity	0.000 sqn	า
					Net Total		149.600 s	
			Say	149.600 sq	m @ Rs 147.1			013.64
11	12.1.1 Providing corruga hooks, bolts and filled with white overlapping of sh cost of purlins, rathick with zinc co	nuts 8 mm diam lead, including a eets complete ( u afters and trusse	eter with bit a coat of ap up to any pit s and includ	rumen and (proved steet ch in horizo ding cutting	G.I. limpet was el primer and ntal / vertical d	shers or w two coats or curved s	vith G.I. limps of approve surfaces), ex	et washers ed paint on ccluding the
		4	2.450	4.600		0.5	22.540	1/2BH
			n.	-81	Total	Quantity	22.540 sq	m
			1/1	Te Jage	otal Deducted	Quantity	0.000 sqn	า
			£3 6		Net Total	Quantity	22.540 sq	m
		619	Say	22.540 sqn	n @ Rs 1424.5	57 / sqm	Rs 32	109.81
12	12.4.2 Providing ridges hooks, bolts and coating not less	nuts 8 mm dia	G.I. limpet					
	RIDGE	Other Fr	3.500	ng Org	anication	) C	14.000	
		Other Li	igineer	ing Org	Total	Quantity	14.000 m	etre
			R-	Te	otal Deducted	Quantity	0.000 met	re
					Net Total	Quantity	14.000 m	etre
			Say 1	4.000 metre	e @ Rs 801.70	) / metre	Rs 11	223.80
13	12.11 Extra providing ar	nd fixing wind ties	s of 40x6 mr	n flat iron se	ection			
	g a.	1	20.000				20.000	
					Total	Quantity	20.000 me	etre
				To	otal Deducted	Quantity	0.000 met	re
					Net Total	Quantity	20.000 m	etre
			Say 2	0.000 metre	e @ Rs 153.62	2 / metre	Rs 30	072.40
14	10.16.2 Steel work in but cutting, hoisting, and bolted with s	fixing position ar	nd applying	a priming co	oat of approve	ed steel pr	imer, includ	_

		1	22.540			20.0	450.800	20KG/M2 OF ROOFING
					Tota	al Quantity	450.800 k	(g
				To	tal Deducte	d Quantity	0.000 kg	
					Net Tota	al Quantity	450.800 k	g
			;	Say 450.800	kg @ Rs 10	39.64 / kg	Rs 62	949.71
15	50.18.9.8.1 Providing and fixing PV refilling & testing of joint		• .	•		•		_
	From water tank main line	250	Ca	esn.			250.000	
			15		Tota	al Quantity	250.000 r	netre
			34 9	To	tal Deducte	d Quantity	0.000 me	tre
		11		20/1	Net Tota	al Quantity	250.000 r	netre
			Say 25	0.000 metre	@ Rs 304.2	21 / metre	Rs 76	052.50
					PS	in Property		D
SI No	Description	No	L	В	D	CF	Quantity	Remark
SI No	Description	47/7	PPENDIX D-			CF	Quantity	Remark
SI No	11.20.1 Chequerred precast cerslurry mixed with pigme mm thick bed of cement	4 AF	PPENDIX D- rete tiles 22 n the shade	mm thick in of tiles, inclu	SHED  footpath & a	courtyard, jo	pinted with ring etc. coment using wh	neat cement
	11.20.1 Chequerred precast cerslurry mixed with pigme	4 AF	PPENDIX D- rete tiles 22 n the shade	PARKING	shed footpath & o ding rubbing sand).Light s	courtyard, jo g and clean shade pigmo	pinted with ring etc. coment using when 79.380	neat cement nplete on 20 nite cement
	11.20.1 Chequerred precast cerslurry mixed with pigme mm thick bed of cement	4 AF	PPENDIX D- rete tiles 22 n the shade 4 (1 cement	mm thick in of tiles, inclu	shed footpath & o ding rubbing sand).Light s	courtyard, jo	pinted with ring etc. coment using wh	neat cement nplete on 20 nite cement
	11.20.1 Chequerred precast cerslurry mixed with pigme mm thick bed of cement	4 AF	PPENDIX D- rete tiles 22 n the shade 4 (1 cement	mm thick in of tiles, included: 4 coarses	shed footpath & o ding rubbing sand).Light s	courtyard, jo g and clean shade pigmo al Quantity	pinted with ring etc. coment using when 79.380	neat cement nplete on 20 nite cement
	11.20.1 Chequerred precast cerslurry mixed with pigme mm thick bed of cement	4 AF	PPENDIX D- rete tiles 22 n the shade 4 (1 cement	mm thick in of tiles, included: 4 coarses	footpath & ording rubbing and).Light so	courtyard, jo g and clean shade pigmo al Quantity	pinted with ring etc. coment using where the results of the result	neat cement nplete on 20 nite cement Im
	11.20.1 Chequerred precast cerslurry mixed with pigme mm thick bed of cement	4 AF	rete tiles 22 n the shade 4 (1 cement 9.800	mm thick in of tiles, included: 4 coarses	footpath & ording rubbing and).Light so Total Deducted Net Total	courtyard, jog and clean shade pigmental Quantity d Quantity	ointed with ring etc. coment using what 79.380 so 0.000 sqn 79.380 so	neat cement nplete on 20 nite cement Im
	11.20.1 Chequerred precast cerslurry mixed with pigme mm thick bed of cement	ecoated gan-charge) in 240 mp 8 microns transportation. The sheet ete upto ar	PPENDIX D- rete tiles 22 n the shade 4 (1 cement 9.800  Say  alvanised irc 0.50 mm (+0 oa steel grad c. Sheet sho ion and shou shall be fixe ny pitch in he	PARKING seminative for tiles, included as the seminative for tiles, included as the seminative for tiles and the seminative for tiles are seminative for tiles and the supplied using self-orizontal/version and tiles are seminative for tiles and tiles are seminative for tiles and tiles are seminative for tile	footpath & continuous and).Light seand).Light seand).Ligh	al Quantity d Quantity al Quantity s.43 / sqm shape and kness with imer on both ard film of 2 length upto tapping scree ved surface	pointed with ring etc. coment using what represents the result of the re	neat cement replete on 20 nite cement replete on 30 nite cement replete on 20
1	11.20.1 Chequerred precast cerslurry mixed with pigme mm thick bed of cement FLOORING  12.50 Providing and fixing preapproved by Engineer-iper sqm as per IS: 277, polyester top coat 15-1 avoid scratches during the by Engineer-in-charge. With EPDM seal, complete	ecoated gan-charge) in 240 mp 8 microns transportation. The sheet ete upto ar	PPENDIX D- rete tiles 22 n the shade 4 (1 cement 9.800  Say  alvanised irc 0.50 mm (+0 oa steel grad c. Sheet sho ion and shou shall be fixe ny pitch in he	PARKING seminative for tiles, included as the seminative for tiles, included as the seminative for tiles and the seminative for tiles are seminative for tiles and the supplied using self-orizontal/version and tiles are seminative for tiles and tiles are seminative for tiles and tiles are seminative for tile	footpath & continuous and).Light seand).Light seand).Ligh	al Quantity d Quantity al Quantity s.43 / sqm shape and kness with imer on both ard film of 2 length upto tapping scree ved surface	pointed with ring etc. coment using what represents the result of the re	neat cement replete on 20 nite cement replete on 30 nite cement replete on 20

				To	otal Deducted	Quantity	0.000 sqm	1
					Net Total	Quantity	96.750 sq	m
			Sa	y 96.750 sqı	m @ Rs 818.5	50 / sqm	Rs 79	189.88
3	10.2 Structural steel work r cutting, hoisting, fixing	•		•	· ·			
		1	96.750			13.0	1257.750	13KG/M
					Total	Quantity	1257.750	kg
		Quantity	0.000 kg					
		Quantity	1257.750	kg				
			S	ay 1257.750	kg @ Rs 100	0.60 / kg	Rs 126	529.65
4	13.1.1 12 mm cement plaster	of mix:1:4	( 1 cement : 4	fine sand)				
		2	5.700	2.200			25.081	
		2	9.100	2.200	13		40.040	
		2	5.700	2.200	3-16-1-6	9	25.081	
		70			Total	Quantity	90.202 sq	m
		V1 T	Bah		otal Deducted		0.000 sqm	1
		ther E	ngineeri	ng Orga	an Net Total	Quantity	90.202 sq	m
			Sa	y 90.202 sqr	m @ Rs 257.1	19 / sqm	Rs 23	199.05
5	13.48.1 Finishing with Delux manufacturers specific one coat of special pri	cations:Two mer applie	o or more coad d @ 0.75 ltr	ats applied of			sqm over an	•
		2	5.700	2.200			25.081	
		2	9.100	2.200			40.040	
		2	5.700	2.200			25.081	
		Quantity	90.202 sq	m				
		Quantity	0.000 sqm	1				
					Net Total	Quantity	90.202 sq	m
		15 / sqm	Rs 13					

	entrance wedge	1	9.100	0.600	0.150		0.819	0.15=(0.20 +0.10)/2
					Tota	al Quantity	0.819 cur	n
				То	tal Deducte	d Quantity	0.000 cur	n
					Net Tota	al Quantity	0.819 cur	n
		6.94 / cum	Rs 6	000.76				
SI No	Description	No	L	В	D	CF	Quantity	Remark
		5 APP	ENDIX E- CO	ONFERENC	E HALL			
1	2.8.1 Earth work in excavat trenches or drains (no ramming of bottoms, I excavated soil as dire	t exceeding	g 1.5 m in w 5 m, includir	vidth or 10 s	sqm on plar ut the exca	n), including	dressing o	of sides ar
	foundation	1	36.500	0.700	0.700		17.885	
	foundation for posts	6	0.700	0.700	0.700		2.058	
		15	11511		Tota	al Quantity	19.943 cu	ım
		101	1400	To	tal Deducte	d Quantity	0.000 cur	n
		100			Net Tota	al Quantity	19.943 cu	ım
	Net Total Quantity 19.943 cu							
		ther Fr		y 19.943 cur			Rs 4	934.90
2	4.1.8 Providing and laying in shuttering - All work u nominal size)	position c	ngineeri ement concr	ng Orga ete of speci	anisatic	ns excluding th	e cost of ce	entering ar
2	Providing and laying in shuttering - All work u	position c	ngineeri ement concr	ng Orga ete of speci	anisatic	ns excluding th	e cost of ce	entering ar
2	Providing and laying in shuttering - All work u nominal size)	position copy to plinth	ngineeri ement concr level:1:4:8 (	ng Orga ete of speci 1 cement : 4	anisatio	ns excluding th	e cost of ce	entering ar
2	Providing and laying in shuttering - All work u nominal size)	position cop to plinth	ement concr level:1:4:8 ( 36.500	ete of speci 1 cement : 4	fied grade of the coarse sa	ns excluding th	e cost of ce ed stone as	entering ar
2	Providing and laying in shuttering - All work u nominal size)	position cop to plinth  1 6	36.500 0.700	ete of speci 1 cement : 4 0.700 0.700	fied grade of the coarse saturation of the coa	ns excluding th	e cost of ce ed stone a 2.555	entering ar
2	Providing and laying in shuttering - All work u nominal size) base	position cop to plinth  1 6 1	36.500 0.700 5.800	ng Orga ete of speci 1 cement : 4 0.700 0.700 11.600	0.100 0.100 0.100	ns excluding th	2.555 0.294	entering ar
2	Providing and laying in shuttering - All work u nominal size) base	position cop to plinth  1 6 1	36.500 0.700 5.800	ng Orga ete of speci 1 cement : 4 0.700 0.700 11.600 1.500	0.100 0.100 0.100	excluding the and : 8 grad	2.555 0.294 6.729 2.176	entering ai
2	Providing and laying in shuttering - All work u nominal size) base	position cop to plinth  1 6 1	36.500 0.700 5.800	ng Orga ete of speci 1 cement : 4 0.700 0.700 11.600 1.500	fied grade of the coarse saturated of the coarse satur	excluding the and : 8 grad	2.555 0.294 6.729 2.176	entering ar ggregate 4
2	Providing and laying in shuttering - All work u nominal size) base	position cop to plinth  1 6 1	36.500 0.700 5.800 14.500	ng Orga ete of speci 1 cement : 4 0.700 0.700 11.600 1.500	fied grade of a coarse sa 0.100 0.100 0.100 Total Deducter Net Total	excluding the and : 8 grade and Quantity and Quantity and Quantity and Quantity	2.555 0.294 6.729 2.176 11.754 cu	entering arggregate 4
3	Providing and laying in shuttering - All work u nominal size) base	p to plinth  1 6 1 1 1 nry with havent: 6 coa	36.500 0.700 5.800 14.500 Say	ete of speci 1 cement : 4 0.700 0.700 11.600 1.500 To	fied grade of a coarse sa 0.100 0.100 0.100 Total Deducte Net Total @ Rs 6659 and plinth in a coarse sa co	excluding the and : 8 grades and Quantity an	2.555  0.294  6.729  2.176  11.754 cu  0.000 cur  11.754 cu  Rs 78	entering and ggregate of the second s

							1	
		1	36.500	0.600	0.600		13.140	
		6	0.600	0.600	0.600		1.296	
				Basement				
		1	36.500	0.450	0.300		4.928	
		6	0.450	0.450	0.300		0.365	
					Tota	al Quantity	19.729 cu	m
				To	tal Deducte	d Quantity	0.000 cum	1
					Net Tota	al Quantity	19.729 cu	m
			Say	19.729 cum	@ Rs 5897	7.62 / cum	Rs 116	354.14
	Filling with contractor's not exceeding 20 cm i 50 m and lift up to 1.5	n depth, co m as per d	nsolidating e irection of si	ach deposite Engineer	ted layer by -in-charge		nd watering	•
		1 1	9.200	9.200	0.300		25.392	
		1	19.943		13	0.8	-15.954	
		104	1400		Tota	al Quantity	25.392 cu	m
		300		To	tal Deducte	d Quantity	-15.954 cu	ım
		N.1 II	Nº Bai	a (8110)		al Quantity	9.438 cum	1
		other Er	ngineers	ay 9.438 cui	n @ Rs 462	87 / cum	Rs 43	868.57
					- 4			
5	5.9.6 Centering and shutte Abutments, Posts an	ring includ	D		T		olumns, Pil	
5	5.9.6 Centering and shutte	ring includ	D		T		olumns, Pil 28.801	
5	5.9.6 Centering and shutte	ring includ d Struts	ing strutting	, etc. and	T			
5	5.9.6 Centering and shutte	ring includ d Struts 12	ing strutting	0.800	removal of		28.801	lars, Pie
5	5.9.6 Centering and shutte	ring includ d Struts 12	ing strutting	0.800 0.800	removal of	form for:C	28.801	lars, Pie
5	5.9.6 Centering and shutte	ring includ d Struts 12	ing strutting	0.800 0.800	removal of Tota	form for:C	28.801 10.320 39.121 sq	lars, Pie
5	5.9.6 Centering and shutte	ring includ d Struts 12	3.000 2.150	0.800 0.800	removal of Tota	form for:C  al Quantity d Quantity al Quantity	28.801 10.320 39.121 sq 0.000 sqm 39.121 sq	lars, Pie
6	5.9.6 Centering and shutte	ering includ d Struts 12 6	3.000 2.150	0.800 0.800 To	Total Deducte Net Total	form for:C  al Quantity d Quantity al Quantity 5.74 / sqm	28.801 10.320 39.121 sq 0.000 sqm 39.121 sq Rs 27	m m 218.04
	5.9.6 Centering and shutte Abutments, Posts and  5.9.1 Centering and shutteri	ering includ d Struts 12 6	3.000 2.150	0.800 0.800 To	Total Deducte Net Total	form for:C  al Quantity d Quantity al Quantity 5.74 / sqm	28.801 10.320 39.121 sq 0.000 sqm 39.121 sq Rs 27	m m 218.04
	5.9.6 Centering and shutte Abutments, Posts and  5.9.1 Centering and shutteri	ering includ d Struts 12 6	3.000 2.150	0.800 0.800 To 7 39.121 squ	Total Deducte Net Total	form for:C  al Quantity d Quantity al Quantity 5.74 / sqm	28.801 10.320 39.121 sq 0.000 sqm 39.121 sq Rs 27	m m 218.04
	5.9.6 Centering and shutte Abutments, Posts and  5.9.1 Centering and shutteri	ering includ d Struts 12 6	3.000 2.150  Say	0.800 0.800 To 7 39.121 squ	Total Deducte Net Total m @ Rs 695	form for:C  al Quantity d Quantity al Quantity 5.74 / sqm	28.801 10.320 39.121 sq 0.000 sqm 39.121 sq Rs 27	m m 218.04

					Net Tota	al Quantity	7.301 sqn	า			
			Sa	ay 7.301 sqı	m @ Rs 288	3.42 / sqm	Rs 2	105.75			
7	5.1.2 Providing and lay centering, shutter sand :3 graded st	ring, finishing and	l reinforceme	ent - All work			_				
	belt	1	36.500	0.450	0.100		1.643				
	coloumns	12	3.000	0.200	0.200		1.441				
		6	2.150	0.200	0.200		0.516				
	lintel	1	36.500	0.200	0.150		1.095				
		4.695 cum	1								
	Total Quantity 4.695  Total Deducted Quantity 0.000										
			E. 2 1		Net Tota	al Quantity	4.695 cum	1			
		61	Say	y 4.695 cum	@ Rs 9242	2.85 / cum	Rs 43	395.18			
	Steel reinforcembinding all comp belt coloumns		1.643 1.957	- Mechanic	735						
	lintel	Other Ei	1.095 _	ng Orga	amisatio	ns 90.0	98.550				
		D			Tota	Quantity	396.335 k	ilogram			
	Total Deducted Quantity 0.000 kilogram										
	Net Total Quantity 396.335 kilogram										
	Say 396.335 kilogram @ Rs 84.17 / kilogram										
9	50.6.1.2 Solid block maso size confirming to above in: CM 1:6	o IS 2185 part I	of 1979 for	super struc	ture up to fl						
	steps	1	1.500	0.150	0.300		0.068				
	doors	2	2.100	1.000	0.200		-0.840				
	windows	2	1.500	1.500	0.200		-0.900				
		2	1.500	1.350	0.200		-0.810				
					+		i e				
		2	0.800	1.500	0.200		-0.480				

	coloumns	12	3.000	0.200	0.200		-1.440				
		21.429 cum									
		-4.902 cur	n								
		16.527 cu	m								
			Say	16.527 cum	@ Rs 5839	0.01 / cum	um Rs 96501.32				
10	od160558/2019_2020 Roofing with Decra roofing tiles including fixing over wooden battens using appropriate nuts and bol including all material labor charges etc. as per direction of engineer at site										
		1	6.000	12.000			72.000				
		1	4.500	12.000			54.000				
	Total Quantity							126.000 per sqm			
		d Quantity	0.000 per sqm								
		126.000 per sqm									
		5	Say 126.000 ¡	per sqm @	Rs 2205.69	/ per sqm	Rs 277916.94				
		P Ther Er	126.000 1gineeri		otal Deducte	d Quantity	1890.000 1890.000 0.000 kg	25kg/m kg			
	Say 1890.000 kg @ Rs 134.21 / kg							ka			
			 Sa	 av 1890.000			1890.000 Rs 253				
12	13.1.1 12 mm cement pla	ıster of mix:1:4 (		•				kg 8 <b>656.90</b>			
12		aster of mix:1:4 (		•							
12			1 cement : 4	fine sand)			Rs 253				
12		2	1 cement : 4 35.600	1 fine sand) 3.000			Rs 253				
12	12 mm cement pla	6	1 cement : 4 35.600 0.800	3.000 2.150			213.601 10.320				
12	12 mm cement pla	6 2	1 cement : 4 35.600 0.800 2.100	3.000 2.150 1.000			213.601 10.320 -4.200				
12	12 mm cement pla	2 6 2 2	1 cement : 4 35.600 0.800 2.100 1.500	3.000 2.150 1.000 1.500			213.601 10.320 -4.200 -4.500				
12	12 mm cement pla	2 6 2 2 2	1 cement : 4 35.600 0.800 2.100 1.500	1 fine sand) 3.000 2.150 1.000 1.500 1.350			213.601 10.320 -4.200 -4.500 -4.050				
12	12 mm cement pla	2 6 2 2 2 2	1 cement : 4 35.600 0.800 2.100 1.500 1.500 0.800	1 fine sand) 3.000 2.150 1.000 1.500 1.500	) kg @ Rs 1:		213.601 10.320 -4.200 -4.500 -4.050 -2.400	8656.90			
12	12 mm cement pla	2 6 2 2 2 2	1 cement : 4 35.600 0.800 2.100 1.500 1.500 0.800	1 fine sand) 3.000 2.150 1.000 1.500 1.350 1.350	) kg @ Rs 1:	34.21 / kg	213.601 10.320 -4.200 -4.500 -4.050 -2.400 -1.080	qm			

	Say 207.691 sqm @ Rs 257.19 / sqm							416.05	
13	13.48.1 Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer as p manufacturers specifications:Two or more coats applied on walls @ 1.25 ltr/10 sqm over and including one coat of special primer applied @ 0.75 ltr /10 sqm								
		1	207.691				207.691		
			1	I	Tota	al Quantity	207.691 s	qm	
		0.000 sqm							
					Net Tota	al Quantity	207.691 sqm		
			Say	207.691 sq	m @ Rs 147	7.15 / sqm	Rs 30561.73		
	Providing and laying vitrified floor tiles in different sizes (thickness to be specified by the manufactur with water absorption less than 0.08% and conforming to IS: 15622, of approved make, in all colours a shades, laid on 20 mm thick cement mortar 1:4(1 cement: 4 coarse sand), including grouting the join with white cement and matching pigments etc., complete. Size of Tile 600 x 600 mm.								
	room	1	5.800	11.600	TA		67.280		
	pathway	1	14.500	1.500	والموادية	200	21.750		
	steps	1	1.500	0.450	ST.		0.675		
		2	0.300	0.150			0.090		
	Other Engineering OrganisatiotanQuantity							89.795 sqm	
		D	D	To	otal Deducte	d Quantity	0.000 sqm	1	
	Net Total Quantity						89.795 sqm Rs 149478.14		
	Say 89.795 sqm @ Rs 1664.66 / sqm R								
15	5.47.2  Providing and fixing in position factory made precast RCC M-40 doors and win frames having excelled smooth finish as per IS:6523 with reinforcement of 3 Nos, 6 mm dia main bars tied with 3 mm M stirrups placed @ 200 mm CC nad 6 numbers high strength polymer blocks of required size for fixing hinges including providing 6 no specially designed M.S galvanised sleeves for accommodating 6 mm of fully threaded bolts for fixing hold fast on vertical members, providing suitable arrangement for receiving sliding door bolts and tower bolt etc all complete, as per the direction of Engineer in charge. (The cost hold fast and cc block of 1:3:6 mix is also included in the item.) The frame shall be measured in running meter correct to two places of decimal. Door frame 100 mm x 60 mm.								
	doors	2	5.200				10.400		
	windows	2	6.000				12.000		
		2	5.700				11.400		
		_	1	l	1	1	1		
		2	4.600				9.200		

	Total Deducted Quantity							0.000 metre	
	Net Total Quantity							43.000 metre	
	Say 43.000 metre @ Rs 617.82 / metre							Rs 26566.26	
16	50.9.2.1 Providing and fix thick shutters in necessary screws Engineerin - char	cluding ISI marl s, excluding pane	ked M.S. prelling which	ressed butt	hinges bri	ght finished	of require	d size wit	
	doors	2	2.100	1.000			4.200		
		4.200 sqm							
				To	otal Deducte	d Quantity	0.000 sqm	1	
	Net Total Quantity							1	
			Sa	y 4.200 sqm	n @ Rs 2951	1.38 / sqm	Rs 12	395.80	
	Providing and fixing glazed shutters for doors, windows and clerestory windows using 4 mm thick float glass panes including ISI marked M.S pressed butt hinges bright finished of required size with necessar screws. Using Anjili wood/ jack wood 35 mm thick shutters.								
		2	1.500	1.500		-	4.500		
		2	1.500	1.350			4.051		
		Other Er	gi0.8001i	ng.350g	anisatic	ns	1.080		
		3	0.800	1.500	T	7	3.601		
			K		Tota	al Quantity	13.232 sq	m	
	Total Deducted Quantity							0.000 sqm	
	Net Total Quantity							m	
	Say 13.232 sqm @ Rs 3596.98 / sqm						Rs 47	595.24	
18	od173626/2019_2020 Conference Chair 1,Back:Use PP Material, good quality elastic mesh and durable. cushion:Ergonomic Chair adopt 55D injection foam. mechaniam, lift and down,swinging,locking,tilting; down. 								
		33					33.000		
	Total Quantity							33.000 each	
	Total Deducted Quantity							h	
	Net Total Quantity							ch	
	Say 33.000 each @ Rs 7500.00 / each						Rs 247	7500.00	

19	od173627/2019_2020  Conference Table - Supply and fixing of modular Conference table of size 800x120x80 cm manager along with each seat made of marine plywood and laminate finish.							m with wi		
			1					1.000		
						То	tal Quantity	1.000 eac	h	
					-	Fotal Deduct	ed Quantity	0.000 eac	h	
						Net To	tal Quantity	1.000 each		
				Say <sup>2</sup>	1.000 each	@ Rs 147500	0.00 / each	Rs 147500.00		
20	od288150/2019_2020 Supply and Plantation of Trees, Bamboos, Shrubs, and Hedge at site i/c was unserviceable materials as per direction of officer in charge including cost of plant									
			15	1/4				15.000		
				(.)	THE THE	То	tal Quantity	15.000 ea	ıch	
			1	JK.	25. 7	Total Deduct	ed Quantity	0.000 eac	h	
	Net Total Quantity								15.000 each	
	Say 15.000 each @ Rs 883.84 / each								Rs 13257.60	
	Polishing on wood work with ready made wax polish of approved brand and manu						facture:Old 100.000	work		
			D I	Ò	T		tal Quantity	100.000 sqn		
	Net Total Quantity								100.000 sqm	
				S	Say 100.000	sqm @ Rs 6	9.82 / sqm	Rs 6	982.00	
SI No	Desc	cription	No	L	В	D	CF	Quantity	Remark	
	6 APPEN	DIX F- AM	OUNT FOR IN	NDOOR P	LANTS, LIG	HTING FIXT	TURES, UPH	IOLSTERY.		
	Lump-Sum To			tal			F	Rs 100000.0	0	
	SI No	De	escription	No	L	В	D	CF	Quantity	
Remark	7 Centage Charges @ 7%									
	Lump-Sum Total							Rs 1025633.56		
				Provision for GST payments (in %						
			Д	mount res	served for G	ST payments		2821957.4		
	Total  Lumpsum for round off							18499498.4 501.55	15	
					Lumpsuli	i ioi iouliu oi		OTAL Rs 1	050000	
								UIAI KS 1	ちついいいいし.	

Rupees One Crore Eighty Five Lakh Only

(Cost Index Applied for this estimate is 48.71%)

